K-L

Wa Wo Cagl Cin Co P

nax ADDENDA %
w w pF pF pF Mc

— 2 — — — —_ § Osram; WoLF, (A) 52
25 — 1 165 9 — (A); uglg2: 11,5; Vi-k: 150 V; Va max: 800 V; Ik max: 200 mA 129
o 34 £ = — _

WoLF, pp(AB1), ul; Ia+g2(m): 160 mA; d: 2,5 %; Rg2: 2 X 22 kQ
Ia4g2(m): 218 mA; d: 1,5 %; Rg2: 2 X 22 kQ

10 43 1,6 173 102 — § Osram; WoLF, (A); d: 8 % 133

— 11,5 == — — — WOoLF, pp(ABD) ; ITa(m): 76 mA; Ig2(m): 20 mA

11,9 6 = — — — trio; WoLF, pp(AB); Ia(m): T3 mA; d: 2 %

35 — 1,2 16 12 — (A); uglg2: 8; Va max: 800 V; Vg2 max: 600 V; Vi-k: 200 V 51
— 100 — — — — WOoLF, pp(AB1); Ia(m): 190 mA; Ig2(m): 30 mA; d: 2,56 %

- 100 = - — — WceLF, pp(AB1), ul; Ta(m): 314 mA; d: 2 %; Vb: 560 V

_ 5 — — = = § Osram; WoLF, (A) 133
— S = iy — e HF, MF; vu 134
s — 0,006 4,5 75 P § Osram; HF, MF'; vu 135
- S L e == = § Osram; HF, MF; vu 136
- —_— — — — — HF, MF; vu 136
S o L e = — § Osram; HF 137
_ = i =i — = § Osram; HF, MF, LF 136
_ - s o o= — 56
— - — _— - — § Osram; HF, MF 136
200 — — — — — max ==
- — == s — — LF 2
— — 475 315 525 — LF; Va max: 150 V 2
_ s - S —_ LF; spec —
_ . - = b == LF -
- s s — —_ — § Osram; LF 2
—_ — 3,25 225 6,775 — det+LF; Va max: 150 V 139
— e ey st — — § Osram; WoLF 251
- _ 2o — — — 85
— = = e = — 85
— s == — — — 84
_ . — — —_— — LF 2
— - - — — —_ LF 2
e - = — — — LF e
— 14 — — — — WoLF, (A) 13
5 = R 273
12 9 3,5 4 1,5 300 osc; Fm: 600 Mc; spec 261
25 _— = - — —_ Fm: 850 Mc 274
200  25k*  — — — 1200 pu; max; *pk =
200 16k*  — — — 3750 pu; max; *pk =
200 200 — — — 1880 max .-
200 200 — — — 3750 max =L
60 12 — — — 3750 max =
60 12 — — — 3750 max =
25 s = = — 700 (A) =
0,1 i — — — 3000 spec; det; *pk; Ia pk: 20 mA 221
1 = = — — 1500 spec; det; max 0
— - — — - — 312
3,5 1 0,2 43 48 — § Osram; pent; WoLF, (A); (= ECLS80) 74
1 = — = = = trio, (A)

54 21 0,2 6 6,9 — § Osram; pent; WoLF, (A) 285
— 0,8 e - - — WoLF, (A)

3,5 — 1,5 1n 0,3 — trio; LF, (A); K: 12

377




.C Ve It Va Vgl Vg2 Ia Ig2 ] Ri Ra Rk |
TYPE sk (SN (Ra-a) “‘
v A v —V V mA mA mA/mV kQ kQ Q
LN319 GEC; Osram 4B+3 13 0,3 200 — — 10 — 3,4 18 — — e
170 9,6 180 28 6,5 6,5 — — 53 —
LP2 GEC; Marconi; § 3 2 0,2 100 O — 5,2 — 3,85 15 39 8 —
LP4 Ferranti 3 4 1 250 36 - 48 —_ 5,4 47 087 4 —
LS1 Telefunken 5 1,9 0,06 90 3 90 5] 2 12 - — — —
LS2 Telefunken 3Z+3Z 1,8 0,2 150 3 — 30 — 2 16 — — —_
LS3 Telefunken 3+2 1,9 0,1 80 15 — 1,5 — 0,8 25 — — —
LS4 Telefunken 5Z 126 042 250 18 250 36 4 5,5 - — —
LS5 Telefunken 47447 126 036 250 25 250 150 30 - — — — —
LS5 GEC; Marconi; § 3 475 038 400 47 — 25 — — 5 5,5 —_ 1880
LS5A Gecovalve; Osram 3 525 0,8 400 112 — 335 — 0,91 2.5 275 55 330C
LS5B Gecovalve; Osram 3 525 0,8 400 10,5 — 1,5 — 0,8 20 25 — —
LS6A Gecovalve; Osram 3 6 2 400 91 — 63 — 2,3 3 1,3 3,25 1500
LS%7 Marconi; Osram 3 4 0,15 150 4 — 21 — 2,4 12 5 — —
LS8 Marconi; Osram 3 4 0,15 130 8 — — — 1,27 7 5,5 — —
LSg8A Marconi; Osram 3 4 0,15 130 8 — 26 — 3 6 2 — —
LS9B Marconi; Osram 3 2 0,15 150 1,5 — 8 — 0,6 30 50 — —
LS30 Telefunken 3Z 126 03 700 55 — 100 — — — — — —
400 — — 100 == — — — — 150
LS50 Telefunken 5 12,6 0,7 1000 80 300 120 10 5 - — — —
600 80 250 130 10 — — — — —
LS52 Telefunken 5Z 126 0,7 800 — 400 — s 5 — — — —
LS180 Telefunken 3Z 6,1 15 1500 — — — — 5 12,5 — — —
LS300 Telefunken 3Z 3 14 2000 — — — — 45 33 — — —
LS1000 Telefunken 3z 126 35 9k*  — — — — 40 33 — —_ —
LS1500 Telefunken 3Z 6,5 20 1000 — — — — 18 20 — — —
LV1 Telefunken b 126 021 250 — 200 20 2,3 10 — 200 — 110
LV3 Telefunken 5Z 126 055 250 7 250 T2 9,5 15 — — 3 90
LV4 Telefunken 8Z+5Z 126 055 300 — 300 — == 8% — 300 — —
LV6 Telefunken 5 6,3 022 150 26 75 2 = 1,5 — - s —
LV9 Telefunken 5 12 0,06 45 2,3 45 1,15 0,2 0,8 - — — -
LV10 Telefunken 5 12 0,1 45 2.3 45 3 0,6 1,6 - 80 — —
LV11 Telefunken 5 12,6 0,09 200 1,6 90 3 0,5 2 — — — —_
LV12 Telefunken 3+3 1,2 0,1 45 — — 1,2 —_ 0,6 10 - —_ —_
LV13 Telefunken 3Z 252* 0,7 260 17 — 160 — 30 20 — — —
LVi4 Telefunken 5 126 0,18 200 1.7 70 8 13 3,7 — — — —
LV1i6 Telefunken 5 126 0,18 250 2 250 14 2,6 10 — 500 — —
LV30 Telefunken 5Z 126 055 250 6,5 250 72 9,5 15 — — — —
LZ319 GEC; Osram 543 (= PCF80) — — — — — — — — — —
LZ319/PCF80 GEC 543 (= PCF80) — — == — —_ —_ —_ — — —
LZ2329 GEC 543 (= PCF80) — == — == — —_ == — —_ —
M1202A Marconi (It.) 3z i { 11,56 5000 245 — 500% — 3 18 —_ 19,6 —
MI1COOL Marconi (It.) 3Z 17 11,5 5000 625 — 500* — 2,5 7,5 — 19 -
M1525 Valvo 3z 12 5 1000 — -— 300 —_— 2 6,25 3.1 — —
M1559 Valvo 3Z 16 8 1500 — e 700 — 2,5 6,25 2,5 — —
MS80679 MMullard 242 (= 6ALS5) — — — — - — — — —
M8083 Mullard 3Z 6,3 0,15 250 85 — 10,5 — 2,2 17 b2 — —
M8081 Mullard 3+3 (= 6J6) i — — — — — — — —_ —
M 8082 Mullard 5(Z) (= EL91) — — — — — — — — — —
M8083 Mullard 5 6,3 0,3 250 2 250 10 2,6 7,6 -— 500 — —
M8091 Mullard 2R 6,3 1,15 500% — — 300 — — — —_ — —
Mi8096 Mullard 47 (= QV03-12) - — —_ — — — _— _— —
M8100 Mullard b (= 6AK5) — — — —_— == = = ey = -
M38136 Mullard 3+3 = 12AU7) — — — — —~— = = — = —
M8137 Mullard 3+3 (= ECC83) — -— — — = - — — — —
MS8161 Mullard 5 = EF92) — - — — i —— — — —_ —
M8162 Mullard 3+3 (= 12ATT) — — — — — — -— — —_ —
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Na Wo Cagl Cin Co F 4 !
1ax ADDENDA %
W w pF pF pF Mc
2 — 2,4 2,6 2 — trio; (A); LF; Wa+a: 6 W 210
5,5 2,35 0,21 9,8 1,3 — tetro; WoLF, (A); Wgl: 1,56 W; TV dvv
- — —_ — — — § Osram; WoLF, (A) 2
12 2,5 —_ — — — WoLF, (A); d: 5 % 9
8 — — — — — .
2;5* —_ — — — 200 *1 i110; pp s
1 — — — — 300 Va max: 200 V 2=
9 = — —_ — 70 _
10* —_ — — — 300 *1 tetro; pp —
10 — == = - — § Osram; WoLF 2
135 — — — — — WoLF 9
10 — — — — — WoLF 2
25 5 == — — — WGCLF, (A) 9
— — — — — —_ WcLF 2
= — — — — e WoLF )
— — — — — - WoLF 9
— — — — — — WcoLF 9
32* 45 2,2 23 14 25 *int; tgr, (C); Ig: 15 mA 262
— 5,5 — — — 570 osc; Ig: 20 mA
40 85 0,09 14,5 10 25 tgr, (C); Igl: 2 mA; (Win)HF: 0,56 W .
— 40 — — — 120 tgr, (C); Igl: 7 mA; (Win)HF: 4 W
25 — — — — 300 max o
165 — — — — 600 max -
300 — — — — 60 max -
1000 60k* — — — 380 pu; max; *pk -
3000 — — _— — 300 max; (fa) =
10 — = i - —= HF; Raeq: 800 Q =
18 8,5 0,12 — — 120 WcLF, (A); Va max: 1003 V; Vg2 max: 400 V; tel 461
3* — — — — 400 *1 pent —
1 — — — — 300 HF 329
0,2 — — — s 100 HF; vu LI
[ 025 — = = = 100 HF; LF =
2 — -- - — 100 HF; v o
, 0,5 — - — — — WoLF, pp(B) -
30 — — — = 120 /12,6 V; 7/1,4 A; spec; Va max: 1200 V -
5 — — — — 150 HF; vu -
45 — — — — — HF _
12 —_ — - — — (A); Va max: 1000 V; Vg2 max: 400 V _
== — . = == = 70
— — = = = == 70
— — == — == = 70
1000 1400 75 9 0,8 mod, pp(B); *Ia(m) 959
1000 1400 7.5 9 0,8 — mod, pp(B); *Ia(m) 252
250 — — — — — mod 44
500 — — — — — mod 253
= e - — S — spec 38
3,8 — 14 15 1,2 150 (A); Vg co: —30 V; spec 84
- — — - - - spec 92
= =z o= . spec 382
3 — 0,01 71 34 — spec; VHF; Raeq: 1,2 kQ 81
= i - - o spec; PIV: 2 kV; Ia pk: 900 mA; Vi-k: 650 V; Rt: 150 Q 165
= = — — — —_— spec 98
= = - = _— — spec 49
o s = - — — spec 75
- - — — — — spec 5
— — — — — — spec 81
— — — — — — spec 75
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ﬁ Vi It Va Vgl Vg2 Ia Ig2 S Ri Ra Rk
TYPE + (Sc) n (Ra-a)
v A vV —V V mA mA mA/mV kQ kQ Q
M8195 Mullard 5 (= EF86) — — — — — —_ — — —_ —_
M8196 Mullard 5 (= 6AS6) — — — — e — — — — —
M8212 Mullard 242 (= B6ALSb) — — — — —_ — —_ — — —
M8248 Mullard 3 (= EC98) — — = — — — — — - —
M20100 Valvo 3Z 22 12 2000 — — 1A — 5 9 18 — —
MA4/500 Philips 3Z 7 9,6 4000 — — — — 1,5 7,5 — — —
MA4/600 Philips 3Z 16 16 4000 100 -— 155 — 3.5 23 — 12 —
4000 140 — 656* — = — == 144 —
MA12/15 GEC; Osram 3Z (= MAWI12/15) — — — —_ = = — — =
MALI12/15 Philips 3z 215 M9 12k 1000 — 2,5A — — — — — —_
MAWI12/15 Philips 3Z (= MALI12/15) — — — — — — — —_ =
MAZA41 EUR 2R+2R 3 0,7 500* — — 60 — — — — — —
MB2/200 Philips 3Z 11 3,8 2000 — 100 — 3 14 45 — —
MC1 Telefunken 3 1,9 0,19 100 1,5 — 4 — 14 15 13, — —
MC1/50 Philips 3Z 10 | 1000 — — 175 — 4 10 — — —_
MC1/60 Philips 3Z 4 3.3 1000 — — 200 — 6 125 — — —
MC2/200 Philips 3Z 11 2.5 2000 — — 400 — 6 15 2,5 — —
2000 275 — 350 — — o — — —
MC2/250 Philips 3Z 14 22 2000 — — — — 5 16 — = —
MC2,5/75 Philips 3Z 4 3,3 2500 — — 210 — 5 106 — — —
ME41 Mazda (Br) 1 4 0,5 250 0,5/22,5 — 0,23 — — — — 1M —
ME9I1 Mazda (Br) 2 9 0,2 175 0,5/19 — 0,16 — — — —_— 1M —
150 0,5/17 - 0,135 — — — — 1M —
ME1001 Mullard 3 6,3 0,4 250 3,5 — 20 — 6 30 — — —
ME1003 Mullard 3Z 6,3 1 500 — — 200 — 20 30 — — —
ME1005 Mullard 3 6,3 0,4 250 2 — 10 — 6,5 70 — — —
MF2 Telefunken 5 19 0,18 120 15 80 2,5 0,55 0,8 — M — —_
MF6 Telefunken 5 1,9 0,095 150 15 75 2 0,55 095 — 12M — —
MH4 GEC; Osram; § 3 4 1 250 4 — 5 — 3,6 40 11,1 50 750
MH4 (Catkin) Gecovalve; Osram 3 (= MH4) — — — — — — — — — —
MH40 GEC; Osram; § 3 4 1 200 3 — 2.7 — 2,4 45 18,75 50 1000
MH41 GEC; Osram; § 3 4 1 200 1,5 — 5,2 — 6 80 133 30 400
MH700 SIF 3z 9,5 9,5 2500 — — — — 5,5 15 — — —
MHD4 GEC; Marconi; § 3+2-+42 4 1 250 4 — 4 — 2,2 40 182 30 1000
MHIL4 GEC; Marconi; § 3 4 1 250 8 — 8 - 2,5 20 8 80 1000
MHLD6 Marconi; Osram  3+242 6,3 0,635 200 5 — — — 3 22 — = —_
MKT4 GEC; Marconi; § 4 4 1 250 13,5 225 32 5 3 — E s 8 365
ML4 GEC; Marconi; § 3 4 i 250 16 — 14 — 42 12 286 7 100G
ML6 Marconi 3 6 0,7 200 8 — 24 — 3,8 12 3,16 — —
ML40 Marconi 3 4 1 200 — — — - 3 12 4 — —
MM4V Mullard 4 4 1 200 1,5/40 110 6 — 2,5 — — —_ —
MP25 CSF 4 126 65 — — — — — — — — — —_
MPT4 GEC; Marconi; § 5 4 1 250 11 225 32 5 3 — — 8 365
MPT4/

(Catkin) Gecovalve; Osram 5 4 1 250 13 250 32 6 3 120 40 8,5 340
MR1 Marconi 2R 9 57 — — — 80 — — — 1.5 —_— —
MR2 Marconi 2R 1% 15 — — — 200 — — — 1 — —
MR4 Marconi 2R 125 63 — — — 80 — — — 1,5 — —
MR4/E620 Marconi 2R (= MR4) — — — — — — — — — s
MR6 Marconi 2R 155 10 — — — 125 — — — 1256 — —
MR7A Marconi 2R 125 24 — — — 350 — — — 0,5 — —_
MR9 Marconi 2R 14 24 — — — 350 — — — 0,5 - —
MR10 Marconi 2R 125 24 — — — 350 — — — 0,4 — —
MS4 GEC; Marconi; § 4 4 1 200 1,5 70 24 0.3 1,1 550 500 - 550
MS4B GEC; Marconi; § 4 4 1 250 1,5 80 3.4 1,2 3,2 — 350 — 250
MS4B/

(Catkin) Gecovalve; Osram 4 (= MS4B) — — — - — — = — — =
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Wa Wo Cagl Cin Co F

nax ADDENDA

w w pF pF pF Mc

_ — - — = - spec 184
— — — - — — spec 50
— — — — — — spec 38
— - — — — — spec 91
1000 — - —— — — mod 254
500 950* 12 11,3 1,2 — max: mod; * pp(B) —
600 90 — = — — mod, (A) -
— 1910 = o= — = mod, pp(B); *Ia(m)

15k 20k = — — 20 tgr, (C); Ig: 375 W; (Win)HF: 825 W (fa) —
— — — — — — (w) —
— — — — = = *eff; Rt: 200 Q; (= AZ41) 174
200 — — — — — max; mod 138
1 — 2,2 1% 1.2 — LF 255
75 97 9,6 9,2 5,4 2 max 35
75 — 153 11 43 — mod; max; Wg: 5 W; Ik pk: 800 mA 35
250 —_ 15,5 26,5 3,5 20 max; Wg: 256 W; Ik pk: 1,6 A 138
— 500 — —_ - — tgr, osc, (C); Ig: 45 mA; (Win)HF: 20 W

250 — — — — — max —
5 — 10 9,7 5,7 —_ mod; max; Ik pk: 840 mA; Wg: 10 W 29
- — — — - — Vt: 250 V; It: 1,16 mA 19
— — — — — — Vt: 175 V; It: 2,7 mA 19
— — — — — — Vt: 150 V; It: 2,1 mA

10 — 7 [ § 2,2 0,2 — (A); UHF; Fm: 3250 Mc; (= EC55); (= TDO03-10) —
25 20 2,5 3.5 0,05 430 max; Fm: 1500 Mc; Ia pk: 500 mA —
5 — 1 2 0,01 2000 (A); (= TD03-5) —
1,5 — 0,001 4,5 9,9 — HF, MF,; Vgl co: —8 V 286
1 — 0,001 3 3,1 200 HF, MF; Vgl co: —6 V 287
2.5 — — —_ —_ —_ § Marconi; LF 54-256
— -l — = = o 54
- - e = = e § Marconi; LF 54
. _ = e — - § Marconi; (A) 54
300 700 3,5 16 6 60 max —
_ - s — S - § Osram; det+LF 121
4 — — — —_ —_ § Osram; LF 54-256
3 i = — — —_ det+LF 8
— 2,5 — — —_ —_ § Osram; WoLF 67-138
5 —_ — — — — § Osram; WoLF 54-256
5 — — — — — WoLF 189
— - — — — — spec; LF e
— — o = = — HF, MF i
8 2 — — — = § Osram; WoLF, (A) 122
8 =8 — — — — WOoLF, (A) 122
100 —_ — — — — PIV: 32 kV; Ia pk: 350 mA —
300 — == — = — PIV: 32 kV —
150 — — — — —_ PIV: 35 kV; Ia pk: 400 mA =
200 — — — — —_ PIV: 35 kV; Ia pk: 600 mA —
600 — — — —_ — PIV: 32 KV —
750 — — — —_ — PIV: 32 KV —
400 s = o e —_ PIV: 40 EV; Ta pk: 15 A .
— — 0,0019 — — — § Osram; HF, MF 9-139
R . — — g - § Osram; HF, MF 29

29
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VE If Va Vgl Vg2 1Ia Ig2 S Ri Ra Rk
HEER * (Se) w (Ra-a) {
E v A v =V V mA mA mA/mV kQ kQ Q

MSC14 HW 3 1.4 0,062 40 14 — 0,3 — 0,4 — 36 — —
MSC2 HW 3 2 0,105 50 1.2 — 0,5 — 0,55 — 25 — C—
MSG/HA Cossor 4 4 1 150 1,5 80 2,1 — 2 — 500 — —
MSG/LA Cossor 4 4 1 150 15 80 5,2 — 315 — 200 — —
MSP4 GEC; Marconi; § 4 4 1 250 1,75 100 32 1 2,4 — . 400
MSP41 GEC; Marconi; § 4 4 1 250 4 240 85 3,5 3.2 == = 1= 33(
MS/PEN Cossor 5 4 1 200 15 100 5 13 2,8 — 800 — —
MS/PEN-B  Cossor 5 4 3] 200 15 100 5 13 2,8 — 800 — —
MT1 Marconi 3z 9 55 8000 — — — — 1,2 120 — — s
MT2 Marconi 3Z 17 15 10k — — — —_ 2 200 — — —
MT3 Marconi 3Z 6 2,2 2000 — — — — 0,33 100 — — —_
MT3F Marconi 3Z 5,8 2,6 2000 — — — — 0.6 60 _— - —
MT4 Marconi 3Z 125 63 10k — — — — 1,33 160 —_ — —
MT4B Marconi 3Z 1256 6,3 10k — — — —_ 1.2 60 — — —_
MT5 Marconi 3z 58 2 1500 — -— — — 0,4 40 — — —
MT5B Marconi 3Z 5,8 1,9 600 — — -— — - — — — —
MT6 Marconi 3Z 185 10 10k — — 125 - 1,2 150 125 — —
MT6B Marconi 3z 155 10 10k — — 125 — 2 30 15 — —
MT7A Marconi 3z 125 24 10k — — — — 2 80 40 — —
MT7'B Marconi 3z 15 10 10k — — -— — 1,16 35 — — —_
MT9 Marconi 3z 165 24 10k — — 400 — 45 90 20 — —
MTIA Marconi 3Z 16 9 10k — — — = 1,56 14 9 — —
MTIF Marconi 3z 17 115 5000 — — 200 = 45 40 9 — —
MTIL Marconi 3Z 17 9,2 5000 — — — — 3 7.5 2,56 — —_
MT10 Marconi 3Z 1256 9 5000 — — — — 1,42 200 —_ — —
MTI11 Marconi 3z 190 55 2000 — — — — 1,33 20 — — =
MT11A Marconi 3z 10 3,5 2000 — — — — 0,93 7,5 — — —
MT110C Marconi (It) 3Z 10 5,5 1500 — — — = 1,3 20 15 — —
MT11SW Marconi 3Z 10 5,5 1500 — — 70 = 1,3 20 15 — —
MT12 Marconi 3z 125 5,5 2000 — — — — 1,33 20 — — —
MTI2A Marconi 3Z 1256 5,5 2000 — — - — 1,2 9 — — —
MTI12M Marconi 3Z 1256 7 2000 — — — — 2 20 — — —
MT13 Marconi 3Z 16 225 10k — — — — 2,25 40 — — —
MT14 Marconi 3z 13,56 13,6 4000 — — 150 — 3 30 10 — —
MT16 Marconi 3z 125 5,5 10k — — — — 1,25 25 20 — —
MT31 Marconi 3Z 10 4.6 1600 — — — — 1,7 34 — —_ —
MT69 Marconi 3Z 10,3 2,85 1000 — — — — 11 33 — — —
MU1 Mazda (Br) 2R 4 2.5 1500% — — 60 — — - — — -
MU2 Mazda (Br) 2R 2 3,1 — — — - — — — — — —
- g - 5 — — = . - =i

MU12 GEC; Csram 2R+2R 4 2,5 350% — — 120 — — — — — —
MU12/14 GEC; Osram 2R+2R 4 2,5 500* — — 120 — — — —_ — —
MU14 GEC; Marconi; § 2R-+2R 4 2,5 500* — —_ 120 — — — - — —
MU25 Ediswan 2R 4 28 — — — 25A — — —_ — — —
MVSG Cossor 4 4 1 200 15 80 78 == 2,5 — 200 — —
MVS/PEN Cossor 5 4 1 200 15 100 43 1.3 2,2 — 600 — —
MVS/PEN-B Cossor 5 4 1 200 15 100 43 13 2,2 — 600 — —
MY3-275 Mullard 3z 14 6,5 3000 — — — — 8,5 16 1,9 — —
- 3000 175 — 120 s — — - 138 —
MX40 GEC; Marconi; § 7 4 i 250 — 150 2,75 — 5 — 500 — 500
MZ05-20 Mullard 3Z 6 1 600 — — 110 — 4,2 11 552 — —
600 — — 66 — - — — 10 630

500 170 — 46 — — - —_ — —

600 107 — 80 — — — — — —

MZ05-60 Mullard 3Z 6 i 74 650 — — — — 3,2 3 094 — =
500 120 — 120 — — — — 2 —

650 195 — 165 —_ = — — 15 —




Wa Wo Cagl Cin Co F %’
max ADDENDA
w w pF pF pF Mc
o - _ [ — = LF; spec -
—_ —_ — — — — LF; spec i
— == _— — — = HF, MF 29
— = —_ —_ —_ — HF, MF 9
- - _— = - e § Osram; HF, MF 131-132
— — — — — — § Osram; HF, MF 131-132
— N o — = = HF, MF 131-433
— — — — — — HF, MF 141
75 — — — — 15 max —
300 — - — — 1.5 max —
40 — — — — 15 max —
40 — —_ —_ — 15 max —
300 — — — —_ 1.5 max —
280 —_ — —_ — 15 max —
15 —_ — — — 1.5 max —
25 — - — —_ — max —
200 — — — — 15 max —
200 — — — — 1,5 meax -
600 — — — — 1,5 max —
500 — — — — 3 max; Fm: 20 Mc —
750 — — — — 15 niax —
600 — — — —_ —_ mod; max —_
500 — — — — 20 max —
800 — — — — —_ mod; max —
200 — — — — 3 max —
50 — — — — 1,5 max —
60 — — — — — mod; max —
60 — - — — 20 max —
60 — — — — 20 max —
200 — - — — 20 max —
200 — — — —_ — mod; max —
200 — —_ — — 20 max —
800 — — — — 3 max -
400 - — — — 20 max —_
250 — — — — —_ max —
75 — — — — 1,5 max —
20 — — — — 15 max —-
—_ — — — — — (G: Hg); Ia pk: 500 mA —
— — — — — — (G: Hg); PIV: 5 kV; Ia pk: 300 mA; th: 10 sec; Vdr: 15 V 34
= = = = o — PIV: 12,5 kV; Ia pk: 50 mA; Ta: 0/50°C; Rt: 10 kQ
— = = —_ — —_ * eff 103
— — — — — — *eff —
— . = = — = § Osram; *eff; PIV: 1400 V; Ia pk: 380 mA; Rt: 100 Q 103
— — — — — — (G: Hg); Ia pk: 160 A; PIV: 500 V; Ta: 10/40°C; th: 300 sec 25
o —_ — = = — HF, MF; vu 29
— —_ — —_ — — HF, MF; vu 433-434
— — — - — — HF, MF; vu 141
275 — 18 11,5 7 — max; Ik: 500 mA; Ig: 75 mA; Ik pk: 2 A 146
— 1300 —_ — — —_ med, pp(B); Ia(m): 560 mA; Ig(m): 36 mA
— — — — = — § Osram; mix-+csc; Vg3+5: 100 V; Ig3+5: 1 mA; Vg4: —3 V; Vosc pk: 10 V 32
20 —_ 8 7,4 3 2 max; Fm: 30 Mc; Ig: 15 mA 2
— 13,8 — —_ —_ —_ mod, pp(A); Ia(m): 75 mA; d: 1,1 %
— 16,5 — — — —_ tph, (C), M/a; Ig: TmA; (Win)HF: 1,TW
— 335 — — —_ — tgr, osc, (C); Ig: 11 mA; (Win)HF: 2 W
60 — 9,5 55 35 — mod; max 42
— 11 — — — — mod, (A); d: 5 %
— 40 — — — — mod, pp(AB1); Ia(m): 230 mA; d: 5 %
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Vi If Va Vgl Vg2 Ia Ig2 S Ri Ra Rk
TYPE * (Sc) m (Ra-a)

E v A v —Vv V mA mA mA/mV kQ kQ Q

MZ1-70 Mullard 3Z 10 1,6 1600 — — 150 — 45 13 2,9 — —
1000 66 — 75 = = — — 7 —
1000 70 — 100 — = — s 14 —

MZ1-75 Mullard 3Z 10 1,6 1250 — — 175 — 6 13 2,2 — —
1250 — —_ 60 — — — — 14 125

1250 — — 120 — —_ — — 12 610

1250 84 — 80 _ — — —_ 10 —

MZ1-100 Mullard 3Z 6 2,5 1250 — — 250 — 4 5,6 14 — —
1250 — — 110 — — — — T —

MZ2-200 Mullard 3Z 14 2.2 2400 — — 400 — 7,2 15 2,085 — —
2250 — — 120 — — — — 7,6 —_—

MZ2-250 Mullard 3Z 11 25 2000 — — 400 — 6 15 25 — —
2000 105 — 125 — — — — 9 —

2000 120 — 160 — — - — 8,2 —

N1 Marconi 5 0,625 0,025 45 — 45 — — 0,18 — — — —
N2 Marconi 5 1,25 0,025 60 — 60 — — 0,5 — — — —
N14 GEC 5 (= 1C5G) — — — — — — — = — —
Ni15 GEC 5 2,8% 0,061 90 7 90 7 1,7 1,55 — — 8 —
N16 GEC; Marconi; § 5 2,8% 0,057 90 45 90 95 13 21— 125 8 —
N17 GEC 5 (= 354) — — — — - — — — — —
N18 GEC 5 (= 3Q4) — — — — — — — — — —
N19 GEC 5 (= 3V4) —_ — — — — — — — — —
N25 GEC 5 (= DL96) — - — — — — — —_ — —
N30 GEC 5 13 0,3 250 15 250 32 8 3,6 — — .0 375
N31 GEC 5 26* 0,37 200 4 200 40 10,6 10 — — 5,5 80
N34 Marconi; Osram 5 13 0,45 250 — 250 40 6 10,5 — — —_ —
N37 GEC 5 13 0,3 165 10 165 40 7.2 9,5 220 232 — 220
250 11,2 165 66 10 — — — 7,5 150

165 10,5 — 65 — 12* 10* 08* 3 165

N41 Marconi; Osram 5 4 2 250 44 250 40 8,5 10,5 — — 6 90
N42 GEC 5 4 1 250 16,5 250 34 5,5 2,5 — == 7 420
N43 GEC 5 4 2 250 45 250 40 10 10 — -— 54 90
N70/6 AEG 2R+2R 2,5 12 0%  — — 6A — — — — — —
N Marconi 5(2) (= EL91) — — — —= — — — — — =
N78 GEC 5Z 6,3 0,64 350 — 275 — — 10,5 420 40 — —
350 — — — — 11,4 24 2,1 — —
250 5 250 35 5,5 — — — 7 120
350 71 275 46 6,5 — — — 18 135

350 9,5 — 57 — — — —_ 8 165

300 25 150 65 14 — — — — —

350 60 150 52 14 — — — — —

260 100 200 55 9 - — - — —

270 120 160 52 12 — — — — —
N108 GEC 5 40 0,1 165 10 165 40 7.2 9,5 220 232 4 220
250 11,2 165 66 10 — — — 7,5 150
165 10,5 — 65 — 12* 10* 0,8* 3 165

N110/1 AEG 2R+2R 1,8 5,5 135% — - 13A — — — — — —
N110/6 AEG 2R+2R 2,5 12 110% — — 6A — — — — - —
N110/10 AEG 2R+2R 2,5 18 110% — — 10A — — — — — —
N110/20 AEG 2R+2R 2,5 26 110%* — — 20A — — - — — —_
N118 GEC 4B 40 0,1 180 6,3 150 29 5,8 75 — — 5,4 —
N119 GEC 5 (= UL85) — — — — = — = - —_ —
N142 Emitron; Marconi 5 (= UL41) — — — —_ — — S — — =
N144 Emitron; Marconi 5(Z) (= EL91) — — — == peain — — — r— =
N145 Emitron; Marconi 5 40 0,1 180 17,5 165 28 5,9 7,5 —— — 5,5 —
N147 Emitron; Marconi 5 (= EL33) — — — — — — — — - —
N150 Emitron 5 (= EL41) — — — = = = — — = —




Wa Wo Cagl Cin Co B \
max ADDENDA
w w pF pF pF Mc @
5 — 7 7.2 3,5 — mod; max 35
— 18 — — — — mod, (A); d: 5 %
— 66 - — — — mod, pp(AB2); Ia(m): 165 mA; d: 6 %
75 — 14 9,5 2 — mod; max; Ig: 20 mA 35
— 20,4 — — — — mod, (A); d: 49 %
— 59 — — —_ _ mod, pp(AB1); Ia(m): 136 mA; d: 3 %
_— 260 — — — — mod, pp(AB2); Ia(m): 314 mA; Ig: 35 mA
100 — 9,5 113 3.5 — mod; max; Ig: 30 mA 42
— 380 — — — — mod, pp(AB2); Ia(m): 444 mA; Ig: 55 mA
275 — 16,2 16 5,6 — mod; max; Ig: 40 mA 2
— 1213 — — — — mod, pp(B); Ia(m): 730 mA; Ig: 72 mA
250 — 16 21 2 — mod; max; Ig: 45 mA 138
— 75 — — — — mod, (A); d: 6 %
— 750 — — —_ — mod, pp(AB2); Ia(m): 540 mA; Ig: 60 mA
—_ —_ — — — — spec; LF —
— — — — — — spec; WoLF —
— — — — — — 2
— 0,25 — — — — */1,4 V; /0,1 A; WoLF 288
— 0,27 — — — — */1,4 V; 7/0,1 A; WoLF 288
— — — —_ —_ — 29
— — — — — — 29
— — —_ — —_ — 28
= — — — — — 28
8 = — — — — WoLF 123
8 — — — — — */13 V; 1/0,6 A; WoOLF, (A) 289
10 — — — - — WoLF 290
9 2,84 0,3 10 10 — WOoLF, (A) 80
— 133 — — —_ —_ WOoLF, pp(AB1); Ia(m): 80 mA; Ig2(m): 24 mA
12* 2,6 — — — — trio; WoLF, pp(AB1); Ia(m): 75 mA; * 1 trio
10 42 — — —_ — WOoLF, (A) 123
— 25 - — -— — WcLF, (A) 123
10 4 e e WOLF, (A) 160
— — — — — — (G: Hg),; th: 12'see; Vdr: 12 V; *eff —
— = = == e — 80
9 — 0,3 11,5 105 — max; Fm: 100 Mc; Wg2: 3 W 80
12 — — — —_ - trio; max
_ 4 ¥ ik pt o WOLF, (A); d: 92 %
—_ 12,6 — —_ — — WOoLF, pp(AB1); Ia(m): 51 mA; Ig2(m): 20 mA
— 6,3 — — — — trio; WoLF, pp(AB1); Ia(m): 64,5 mA
—_ 10,5 — — —_— —_ tgr, osc, (C); Ig: 5 mA
— 9.2 — — — — Fx2, 20/40 Mc: Igl: 3 mA
' 5,3 £ = AN — Fx2, 50/100 Mc; Igl: 5 mA
— 7 | — — — — Fx3, 20/60 Mc; Igl: 6 mA
9 2,84 0,3 10 10 — WOoLF, (A) 80
— 13,5 — — — — WoLF, pp(AB1); Ia(m): 80 mA; Igl(2): 24 mA
12¥ 2,6 — — —_ —_ trio; WoLF, pp(AB1); Ia(m): 74 mA; * 1 trio
B — e — — —_ (G: Hg); *eff; th: 12 sec; Vdr: 12 V —
= s = — 5 — (G: Hg); *eff; th: 12 sec; Vdr: 12 V —
— s — — — —_ (G: Hg); *eff; th: 30 sec; Vdr: 12 V —
= — — —_ — — (G: Hg); *eff; th: 300 sec; Vdr: 12 V —
6 2,6 0,86 11 7,6 — WOoLF, (A) 57
= — — — = — 90
— — i - —& Fis 435
% — —_ — S — 382
— 2.5 — — — — WoLF, (A) 108
— S = e e — i
— — — — — —_ 435
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vE If Va Vgl Vg2 1Ia Ig2 S Ri Ra Rk |
TYPE RS (Se) n (Ra-a)
K v A V =V V mA mA mA/mV kQ kQ Q
N150/25 AEG ZR+2R 2,6 26 150* — —_ 25A — — — — = =
N151 Emitron 5 (= EL42) — — - — — —_ — — = 7
N1i52 Marconi 5 (= PL381) — — — — — — —_ — — —
N153 Marconi 5 (= PL83) — -— — — — — —_ — — ==
N154 Marconi & = PL82) ok —_ e — —_ — — — —— e
N19d/6 AEG 2R+2R 2,5 12 190* — — 6A — — — — — =
N190/7 AEG 2R 2,5 26 380% — — TA — — = — = e
N196/10 AEG 2R+2R 2,5 18 190* — — 10A — — — — — =
N190/20 AEG 2R+2R 2,56 18 190* — — 20A — — = — o =
N280/1 AEG 2R+IR 1,8 6 280*% — — 11A — — — — — e
N280/3 AEG 2R+2R 2,5 12 280 — - 3A — — — — = =
N280/6 AEG 2R+2R 25 12 280* — — 6A — — — —_— — —
N280/10 AEG 2R+2R 2,5 18 280% — — 10A — — — — — —
N280/20 AEG 2R+2R 2,5 26 280% — — 20A — — — — — —
N308 GEC 4B (= "PIL.83) — — — — — — — — e =
N309 GEC 5 15 0,3 250 538 250~ 33 42 11,2 840 75 5 150
N320/20 AEG 2R+2R 2,5 26 320% — — 20A — — — p— — —
N329 GEC 5 (= PLS82) — — — — — — — — - o=
N339 GEC 5 2) 0,3 150 — 150 80 — 8,5 — 10 — —
150°" 125 — — — 10,5 85 081 — —
N359 GEC 5 (= PLB1) —_ — — —_ — — — — —_ —
N369 GEC 543 (= PCL82) — — — — - — — — — —
N379 GEC 5 (= PL84) -— — — —_ — — — — — —
N709 GEC 5 (= EL84) — — = — — — — = — —
N27 GEC 4B (= 6AQ5) — — — — — — — — — —
NF2 Telefunken 5 126 0,195 200 2 160-- 3 b} 2.2 —_ 1,8M — 500
NF4 Telefunken 5 (= NIF2) — — — — — — — —_ - —
015/400 Tungsram 3 4 1 400 38 — 40 — 45 8 1,8 v § —_
040/1000 Tungsram 3Z 10 1,1 1000 — — — — 3 8,5 2,8 — —
070/1000 Tungsram Z 10 1,5 1000 — —_ 150 L. 5 2,5 - — —
075/1000 Tungzsram 37Z 10 3 1250 225 — 150 — 45 135 #3 — —
0200/2500 Tungsram 3Z b 7 2500 — — 200 — 15 23 153 — —
0240/2000 Tungsram 3z (= 0241/2000) — — —_ — —_ — =t — —
0241/2000 Tungsram 3Z 14 6 2000 — e —_ =L 9 16 18 — —
0250/2000 Tungsram 3z 11 2,5 2000 — —_ — — 9 25 2,8 — —_
0300/3000 Tungsram 3Z 45 12,5 3000 — — — — 1,5 23 153 — —
01500/5000 Tungsram 3Z 10,5 41 5000 — — 500 — 2,2 20 9 — —
OBC3 Fhilips 3-+2+42 126 0,15 250 2 — 0,9 B 100 91 — —
OBF2 Philips 5+2+2 8,5 0,1 200 2/32,5 100 5 1,6 1,8 — M — —
OCH4 Philips 743 15 0,155 200 - 2/23 100 3 6,5 0,75 — 13M — —
100 — —=. .35 = — — el 28
OF1 Philips 5 8,3 0,15.- 250 3/38,5 100 85 2 1,75 — M — —
OF5 Fhilips 5 126 6,15 250  3/52 100 17 1,7 145 — 800 — —
OF9 Philips 5 8,5 0,15 200 ' 2,5/32 100 6 1.7 22 — 900 — —
OH4 Philips 7 126 . 0,15- « 250 3% 250* 3,5 4 055 — 360 — —
OM1 Cossor 2R 30 90,2 250% —_ 120 —_ — — — — —
OM3 Cossor 242 6,3 0,2 — — — — — — — s — —
OM4 Cossor 3+2+2 6,3 0,2 200 4,3 - 4 — 2 30 15 — —
OM5 Cossor 5 6,3 0,2 250 2 100 3 — 1,8 — 25M — —
OM5 Philips 1+1 12,6 = 6,15 200 0/5 — — — — — = — —_
— 0/13 — — - — — = —_ —_
OM6 Caossor 5 6,3 0,2 250 2,5 100 6 — 2 — 12M — —
OM8 Cossor 8 6,3 0,2 250 — 200 — — 0,55 — —_ — —
oOM9 Cossor 5 6,3 0,2 250 6 250 36 4 9 — 50 9 150
OM10 Cossor 643 6.3 0,2 250 2 100 — — 0,55 — = [ S
0OP38/500 Tungsram 3Z .5 125 600 — — — — —_ — Sl —_ ==
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nax %’
Wa Wo Cagl Cin Co b o ADDENDA
w w pF pF pF Mc
. it el 2= s ik (G: Hg); th: 300 sec; Vdr: 12 V; *eff e
oy =S A i = 1= 435
2 el L o s R 98
G e i e e 3 l 291
2 Rt Kl il B = 90
el e e e SR e (G: 'Hg); *eff; «th: 12.sec; "Vdr: 12V ars
i P e il i e (G Hg); *eff; th: 30 sec; ¥Vdr, 12V o
L L AT =0 = — (G: Hg); *eff; th: 30 sec; Vdr: 12 V -
L o o2 — — — (G: Hg); *eff; th: 300 sec; Vdr: 12 V ==
— A — — — — (G: Hg); *eff; tkb: 12 sec; Vdr: 12 V o
. s o i N o (G: Hg); *eff; tkb: 12 sec; Vdr: 12 V ==
o e End b e e — (G: Hg); *eff; tkb: 12 sec; Vdr: 12 V 5
L A s e s o~ (Gr: Hg); *eff; th: 30 sec; Vdr: 12V s
s g - - A —_ (G: Hg); *eff; th: 300 sec; Vdr: 12 V =
et i et e e = 193
9 3,45 0,1 10,8 6 — WoLF, (A); (= PL83) 99
e e e o i e (G: Hg); *eff; th: 300 sec; Vdr: 12 V ==
i el ., = = . 90
12 — 0,38 13 7,3 — (A); Va pk: 7,5 kV; TV dvh 98
12,5 == — — — — trio, (A)
ot S her e fed s 98
el ol sl s o e 312
at ey = o gt = 90
sl en el . . = 90
A=) 4 s 2 i s 34
i — 0,001 7,2 8,2 — HF; MF 53
1,5 — — T 8,3 — 292
15 3,5 9 6 3 — WOLF, (A) S
40 — 10 6,5 4 — max £
75 100 — — — — max 2
75 130 11 8 4 6 tgr, (C); Ig: 18 mA; (Win)HF: 7T W —
200 — — — — 150 max =
240 — 28 20 5 — max i
250 — 17 20 45 — max L
300 400 4 2 15 60 max 2
1500 1700 10,5 19 1 — max =
— — 1,8 — — — det+LF 111
— — 0,002 — — —_— HF, MF-{det 293
2 ly 0,003 — e EEs hept, mix 40
— b P} s Al e trio, osc; Rg: 50 kQ; Ig: 190 uA
— — 0,006 — — — HF, MF 56
o 2 0,005 — e ek HF, MF 56
— — 0,002 — — —_ HF, MF 9294
= o Xk = ot 4 =y mix-+osc; *Rg2: 206 kQ; Vg3+5: 100 V; Ig3+5: 2,7 mA; Igl: 700 uA; 14
T Vg3
_ . & 2 5 5 S * eff 92
i ) o it A 1e1 oy det 62
¥ i B S - = det+LF; (= EBC33) 103
ey s o e, - — HF, MF, LF 56
. il i e e 2 Vt: 200 V; It: 0,55 mA 8
- e Ll £ — oAl HF, MF; vu; (= EF39) 56
s A = s 2 gk mix+osc; Vg3+5: 50 V; Vg2: —2 V 6
9 45 — — - — WoLF, (= EL33) 267
o 2l i i wit S mix-osc 7
35 —_ — — — 60 max =
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Vi It Va Vgl Vg2 1Ia Ig2 S Ri Ra Rk
TYPE l S (Se) n (Ra-a)
v A Vo =V V mA mA mA/mV kQ kQ Q
OP38/600 Tungsram 3Z 7,5 1,25 600 — — — — 3,85 10 2,6 — —
OP70/1000 Tungsram 3z 10 15 1000 22 — 75 — 4 10 2,5 — —
OP200/2000 Tungsram 3Z 11 25 2000 — — — — 6,5 16 2,5 — —
0Q10/490 Tungsram 3Z 4 1,1 600 — — — — 2.3 25 11 — —4
0Q15/590 Tungsram 3z 4 1 600 — — - — 4 8 2 — =
0Q15/600 Tungsram 3Z 4 1 600 — — —_ — — — — — =
0Q71/1000 Tungsram 3Z 10 1,25 1000 — — - — 5 23 4.6 — —_—
0Q1500/5000 Tungsram 3z 10,5 41 6000 — ek = =3 -2 e 2 =5 &
0Q2500/6000 Tungsram 3Z 22 415 6000 — — — — 13 45 — — —
0QQ25/800 Tungsram 3Z 4 1 800 — REE == o = bl = oL ey
0QQ50/1530 Tungsram 3Z 7.5 4 1500 — — 125 — 2 47 235 — —
0Q0Q55/1500 Tungsram 3Z A7) 3 1500 — — — = 2.2 20 9 — —
0QQ56/2500 Tungsram 3Z (= 0QQK50/1500) — —_ — — —_ — s — —
0QQ150/3900 Tungsram 3z 10 3,25 3000 — — — — 3 18 6 — —
0QQ151/3000 Tungsram 3% 105 4 2500 170 ' 990 o= TN 18 6 - =
0QQ500/3000 Tungsram 3Z 23 13,6 4000 — — — — 5 34 6,8 — —
©QQ501/3000 Tungsram 3Z 23 16 3000 — — 500 — 4 36 — — —
3000 60 — 450 — — — — — —
081 Tungsram 57 6,3 3 600 — 300 — e 4 —_ — — —
600 45 300 68 36* — - — 6 —
086/300 Tungsram 47 4 0,34 300 — 150 — — 2 30 15 — —
0812/500 Tungsram 5Z 12 0,65 500 — 300 — s 15 — — — -
0S512/501 Tungsram 5Z 6,3 1,4 (= 0OS12/500) — — — — — — —_
0S15/500 Tungsram 5Z 12 0,38 500 — 300 — —_ 15 — — — =
0518/690 Tungsram 5Z 6,3 1,35 600 — 325 — — 525 — 38 — —
08540/1250 Tungsram 5Z 7,5 3 1250 — 300 — — 3,25 — — — —
0841/1250 Tungsram 5Z 7,5 3 1000 90 220 75 21 3.25 — — — —
0S51 Tungsram 5Z 126 1,35 1000 — 300 — — 6 — — — =t
0S70/1750 Tungsram 5Z 10 325 1750 — 750 — — 2,6 — 385 — —
0S8125/2080 Tungsram 5Z 10 5 2000 — 500 — = 45 — — _ —
08450 Tungsram 57Z 126 -9 3000 — 600 600 180 5 300 — — —
OSW?2190 OSwW 5 6,3 045 300 2 150 10 2,5 9 — 70 — 160
0OSW2192 OSW 5 6,3 0,65 300 3 150 30 i) 11 — 90 3 80
OSW2582 OSwW 5 126 055 250 7 250~ "2 9,5 6 — — 3 90
OSW2500 OSW 5 6.3 045 300 2 150 10 2.5 — 750 — 160~
OSW2601 Oosw 5 6,3 0,65 300 3 150 30 1 11 — 90 T 80
OSW3101 OsSwW 3Z 105 «~ 11,56° - 1500 95 — 160 — 5,5 125 .'23 — —
OSW3104 OSwW 7 6,3 0,3 250 — 100 33 8,5 0,45 — M — —
100 — 100~ 8.3 8,5 0,425 — 500 — -
OSW3185 OSW 3+242 6,3 0,3 250 2 — 0,9 — 1,1 100 90 — —
100 1 — 0,4 — 0,9 100 110 — —
OSW3106 OsSW 48 6,3 0,55 ° 230 125 250 45 45 4,1 — 52 5 250
180 85 180 29 3 3.7 — 58 5,5 —
OSW3107 OSW 2R+2R 5 1,6 350% — — 125 — — — —_ — —
OSW3108 OsSW 4B 6,3 11 350 18 250 54 2,5 5,2 — 33 4,2 320
250 14 250 72 5 6 — 23 2,5 180
OSW3109 OSW 242 6,3 0,3 — — — — — — — e — e
OSW3110 OSwW 1 6,3 0,3 250 0/8 — 0,24 — — — — 1M —
OSW3111 OSW 5 6,3 0,3 250 3/35 100 9,2 2,6 2 — 800 — —_
OSW3112 OSW 3 6,3 0,3 250 8 - 9 - 2,6 20 i) — 900
90 0 — 10 — 3 20 6,7 —_ —
OT100 Tungsram 3Z 10 3,25 1750 200 —_ 200 —_ b 20 4 el —
1250 55 — 40 — — — — 8 —
1250 65 — 85 - - — 2 — —_
1000 195 — 160 — — — —_ — —
1250 110 — 190 — — — — — 520
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Wa Wo Cagl Cin Co F \ /
nax ADDENDA

w w pF pF pF Mc

35 — 12 3,6 3 - max k]
75 — 10 T 4 — max e
200 — — — — — max E
10 — — — — — max et
15 — — — — — max s
15 — — — — — max =
5 — 10 9,5 45 — max 2z
1500 — — — — — max =y
2500 — 16 23 14 — max s
25 — — — — — max g
50 140 — — — 300 max e
55 e -~ L s — max e
150 — — — —_ — max P
150 400 — — 60 tgr, osc, (C) £
500 — — — — — max 3 b
500 — 7,5 9 45 20 max; Fm: 60 Mc; Ig: 100 mA s
— 1000 — = s e tgr, (C); Ig: 60 mA; (Win)HF: 20 W

25 — 0,1 16 12 — max; Ik: 130 mA 25
— 90 — = == = mod, pp(AB1); Ia(m): 224 mA; * Ig2(m)

6 — 2 11 9 150 max 81
10 15 0,1 16 7.5 20 max; Fm: 60 Mc; wWg2: 3 W 5i7
15 — 0,015 11 8 60 max e
18 — — — — — max a3
40 — 0,01 16 145  — max 2
40 50 — —_ — — tph, (C), M/a; Vg3: 50 V; Igl: 6 mA 2L
45 — 0,1 22,5 11 60 max; uglg2: 6,7; Ik: 240 mA 436
70 — — — —_ — max i
125 — — —_ — —_ max Kl
450 — 0,05 31 24 6 max; Fm: 50 Mc; Wg2: 100 W ==
3.3 — 0015 . — = =t HF; MF; Vg3: 0 V 73
9 3,5 0,06 —_ — — WoLF, (A); VF; Vg3: 0V 4317
18 8,5 0,1 — — — WoLF, (A) —
33 — 0,04 — — —_ HF; MF; Vg3: 0 V 73
9 3,5 0,1 — — —_ WoLF, (A); VF; Vg3: 0 V 4317
150 — 3.8 — — — (A); Va max: 2000 V —
1 e %ot 25 = e mix+osc; Vg3: 0 V 24
2 — 1,6 — — — det4LF 257
12 45 0,7 —_ = - WoLF, (A) 40
5 2 iy = —_ — (A)

— i = — St o, * eff 57
19 10,8 0,8 — = — WoLF, (A) 40
— 6,5 — — — — (A)

8 — — — — — det; PIV: 420 V 62
— — — - —_— — Vt: 250 V; It: 4 mA S
4 — 0,007 — — — HF, MF 438
2,5 — — — — — LF; osc 342
75 — 5 6,4 1 50 max; Ig: 45 mA 27
— 250 — — —_ — mod, pp(B); Ia(m): 200 mA; (Win)LF: 4 W

— 40 — — — — tph, (B); Ig: 2 mA; (Win)HF: 55 W

— 115 2o I = = tph, (C), M/a; Ig: 28 mA; (Win)HF: 9 W

— 170 = = A0 — tgr, osc, (C); Ig: 30 mA; (Win)HF: 63 W
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vE 1f Va Vgl Vg2 1Ia Ig2 S Ri Ra Rk
TYPE E Y (Sc) n (Ra-a)
v A vV =V V mA mA mA/mV kQ kQ ]
OT400 Tungsram 3Z 10 10 4000 500 — 500 — — 35 — — —
4000 100 — 100 —= e — — 12 —
4000 120 — 150 — — — — — —
3000 300 — 415 — — — —_ — —
4000 200 — 450 — — — — — 380
Pl Brown-Boveri 5 12/6-+022 -250. 25 200 20 7 9,5 — - — s
400 2 250 25 7 105 — — — —
P2 SFR 5Z 6,3 0,5 200 4,5 15010 2 48 — — — —
300 25 220" 15 4 — — — — —
P2 Brown-Boveri 5 6,3 0,3 250 - 2,5 250 10 2 i | — IM — —
P2 GEC 3 2 0,2 100 6 — 12 — 3,5 7.5 2,15 6,5 —
P2-6 SFR 5Z+5Z 6,3 1 500 — 250 — — 3 — — — —
P2/12 SFR 4BZ+4BZ 6,3* 1,6f 1750 175 250 45 = 3 — — — —
P2/40 SFR 4BZ+44BZ 6,3 145 500 — 275 110 — 7 — - — —_
P2/40B CSF; SFR 4BZ+4BZ (= 829B) — — — — — AL = = — —
P2/200 SFR 52+4-5Z 10 8 2000 — 500 — - 4 — — — —
P2/200A SFR 5Z+4-5Z 10 8 2250 — 500 — — - — s —_ —
2000 90 500 340 60 — — — — —
P2/600 SFR 5Z 457 10 20 2500 — 700 — e 8 — — — —
P2/600A SFR 5Z-+5Z 10 20 3000 — 800 — — 6.5 — — — —
2800 150 600 940 90 — — — — —
P5A SFR 5Z 4 0,4 300 — — -— — 2 — — —_ —
P6 SFR 5Z 6,3 0,5 500 — 250 — — 2,4 — — — —
500 80 250 36 q o — — 2= 2
P10-1 Brown-Boveri 5Z 126 022 800 — 200 30 — 9,5 — — — —
P17 SFR 4BZ 4 1,8 600 — 325 — — 3,5 — — — —
600 90 300 100 10 == — — e —
P17A SFR 4BZ 6,3 0,9 600 — 300 — - 6 — e = =
600 45 250 100 7 — — — sl —
P17C SFR 5Z 6,3 145 600 — 300 — — 4 — — 5 e
600 90 300 110 11 — — —_ — -
r3s SFR 5Z 126 0,6 800 — 200 — — 3 — —_ = —
860 80 200 90 22 — — — —_ —
P40 Marconi 5Z 4 1250 — 400 — — B 750 — — —
P40 CSF; SFR 5Z 6,3 1,5 550 — 300 — — 8 — — s —_
500 175 250 100 16 — — =L = —
P40B Marconi 5Z 126 0,65 1000 — 300 — — 4 200 — Lo —_
P41 Ediswan 3 4 095 250 — — 45 — 44 16 3,6 50 —
P50 RFT 5Z 126 0,7 1000 300 300 — - 3,5 — — — —
P50-1 Brown-Boveri 5Z 126 0,7 1000 250 300 — — 4 210 — —_ —
1000 55 280 180* — — — 2= oS ==
1000 60 280 100 10 — — = — —_
1000 80 280 120 10 — — —_ — —_
P50/2 RFT 5 126 0,75 800 40 250 50 5 3,5 — — = e
P57 SFR 5Z 24 0,45 1000 — 400 — — 2 — —_ oL —
1600 110 280 90 8,5 L — = — o
P61 Ediswan 3 6,3 0,6 100 — — — — 8 1% —_ —_ —
P75B SFR 5Z 10 1,8 1500 — 450 — — 2 — = = —
1500 150 350 150 22 — — — — —
Pl SFR 5Z 10 2 1500 — 450 — —_ 5 —_ o e s
1500 80 400 170 40 — =, = it o5
P100/1250 Tungsram 3Z 6 2l 1250 — — — — — = s iz A
P101/1000 Tungsram 3Z 10 3 1250 — — — — — = 2 s ZL
P120-1 Brown-Boveri 4BZ 10 b 2000 250 500 250 — 4 — R A A
2000 90 400 20 54 — A28 L 29 =is
2000 990 400 80 0 — e Lt = S5
1600 170 400 180 20 = Lz =t = il
2000 155 400 230 35 — = i e =
-~
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Wa Wo Cagl Cin Co r G
max ADDENDA %
w W pF pF pF Mc
400 — 6,3 123 85 — max; Ig: 100 mA 135
— 2400 — — — — mod, pp(B); Ia(m): 500 mA; (Win)LF: 29 W
— 225 — — — —_ tph, (B); Ig: 2 mA; (Win)HF: 14 W
— 1000 — — — - tph, (C), M/a; Ig: 85 mA; (Win)HF: 37T W
—_ 1440 — — - — tgr, cse, (C); Ig: 75 mA; (Win)HF: 26 W
— — — — — e HF, LF; Vg3: 0 V 295
— 45 - - — — WoLF, (A); Vg3: 0V
2.5 — 0,014 8 3,5 — HF, MF 439
- 2 = — = 43 tgr, (C); Igl: 0,5 mA; (Win)HF: 0,015 W
4 — 0,01 8,6 7 — VHF; Fm: 100 Mc 297
— — — — — e WOLF, (A) 2
20 —_ 0,04 6 10 — max; Fm: 60 Mc; pglg2: 6; Ik: 90 mA =
7.5 — 0,07 8 3,8 — */12,6 V; /0,8 A; max; 1 tetro; (= QQE04/20) 17
20 — 0,1 18 8 200 max; 1 tetro 455
— == = =y — == 17
240 — 0,1 165 23 — max o
300 — 0,1 16,5 23 — max 298
— 480 — — — = tgr, pp (C); Ig: 20 mA; (Win)HF: 32 W
700 1500%* 0,1 23 28 20 max; *tgr, pp(C) 298
800 — 0,1 23 28 30 max 298
— 1900 —_ pecs == — tgr, pp, (C); Ig: 40 mA; (Win)HF: 9 W
3,5 — 0,2 8 55 — max <
10 — 0,04 6 10 60 max; Fm: 300 Mc 299
— 12 — — — — tgr, (C); Ig: 1,6 mA; (Win)HF: 0,16 W
10 16 — — — 30 tgr, (C); Vg3: 420V 393
25 — 0,085 13 9,5 — max; Fm: 100 Mc; puglg2: 7; Ik: 120 mA 39
— 40 — — — — tgr, (C); Ig: 2,3 mA; (Win)HF': 0,26 W
25 — 0,1 115 85 40 max; uglg2: 7,5; Ik: 120 mA 39
— 49 — — — — tgr, (C); Igl: 3,6 mA; (Win)HF: 0,2 W
25 — 051 15 9 15 max; uglg2: 5,5; Ik: 130 mA 72
== 45 b 22 S = tgr, (C); Igl: 2 mA; (Win)HF: 0,22 W
30 — 0,05 18 9,5 —_— max 3922
— 50 e —_ —_ 6 tgr, (C); Igl: 3 mA; (Win)HF: 0,6 W
490 e L= 5 == = max i)
25 —_ 0,1 16 8 20 max; Fm: 200 Mc; Wg2: 3,6 W; Ik: 120 mA; uglg2: 10 201
- 35 e . — —_ tgr, (C); Igl: 5 mA; (Win)HF: 0,56 W
40 — 0,07 — — 25 max o
4 — 3,5 7 475 — (A); Ia pk: 30 mA; osc 243
40 — 0,12 14 10 50 max; Wg2: 5 W; Wgl: 1 W; Ik: 230 mA; (= SRS552) 455
50 — 0,1 13 12 23 max; Fm: 120 Mc; Wg2: 6 W 301
Ji 90 =t =2 = — mod, pp(B); * Ia(m)
— 60 — — — — tph, (B)
o 80 Lt iid g —_ tgr, osc, (C); (Win)HF': 0,7 W
40 — 0,12 — — — (A); spec, Wg2: 5 W 455
45 — 0,1 15 12 — max; Fm: 60 Mc; uglg2: 4; Ik: 110 mA 72
= 68 — — — — tgr, (C); Igl: 2,56 mA; (Win)HF: 0,38 W
4 — 35 T 475 — (A); osc 243
75 — 0,03 36 28 — max; Fm: 25 Mc; pglg2: 3; Ik: 200 mA 310
— 150 — —_ = —_ tgr, (C); Igl: 6 mA; (Win)HF: 15 W
85 — 0,05 33 24 — max; Fm: 25 Mc; uglg2: 8; Ik: 225 mA 440
— 170 —_ —_ — P ter, (C); Igl: 12 mA; (Win)HF: 3 W
100 L i - — — max; (= 211) =
100 22 = —_— — — mod; max =
125 — 0,1 14 16 30 max; Fm: 50 Mc 71
— 580 s i P — med, pp(B); Ia(m): 400 mA; Vg3: 4100 V; (Win)LF: 1 ¥/
s 60 2 5 = 2, tph, (B); Vg3: +100 V; (Win)HF: 02 W
— 220 — — — —_ tph, (C), M/a; Vg3: +100 V; (Win)HF: 1 W
— 350 — — — — tgr, (C); Vg3: +100 V; (Win)HF: 15 W
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Vi If Va Vgl Vg2 1Ia Ig2 S Ri Ra Rk
TYPE | e (Se) w (Ra-2)
v A v -V Vo nmiA mA mA/mV kQ kQ Q
P120-1a Brown-Boveri 4BZ (= P120-1) — — — — — = = — e e
P120-2 Brown-Boveri 5Z 10 5 2000 200 500 200 — 5 — — — st
2000 35 400 20 100 - — — — =
2000 40 400 75 15 — — — — —
1500 80 400 135 50 - — — — —
2000 90 400 170 75 — — — — ==
P125 Marconi (It) 5Z 12 3 2000 — 500 — — 2;2 500 — — —
1500 120 500 90 20 — — —_ — —
1500 250 300 75 50 — — — — —
1500 250 500 150 40 — — — — —
P125 SFR 5Z 12,6~ 1.3 1500 — 450 — — 45 — — — —
1500 100 450 150 30 — — — — —
P150 SFR 5Z 10 3 1750 — 500 — — 3,7 — — — —
1750 115 475 200 50 — — — — —
P200 SFR 5Z 10 4 2000 — 500 — — 3,7 — — — —
P200A SFR 5Z 10 4 2250 — 550 — — 4 — — — —
2000 90 500 170 30 — — — — —
P215 Marconi; Osram 3 2 0,15 -:.150:" -7 12 — 8,5 — 14 T 5 — —
P220 Ediswan 3 2 0,2 150 — — 10 — 34 12,5 3 — —
P220A Ediswan 3 2 0,2 150 — — 17 —_ 35 6,5 185 — —
P300-1 Brown-Boveri 4BZ 12 10 3000 600 600 600 — 8 — — — —
3000 170 600 40 150 — — o 8 —
3000 170 600 200 12 Zo — — — =
2500 325 500 370 26 — — — it —
3000 200 600 530 90 — — — — —
P400 Marconi 5Z (= 5C500) — — — - — — — — — —
P410 Marconi; Osram 3 4 0,1 150 10,56 — 9 — 1,5 %5 5 12 —
P415 Gecovalve; Osram 3 4 0,15:" 150,165 — 17 — 24 153 2,08 4,5 —
P425 Gecovalve; Osram 3 4 0,25 150,166 — 17 — 1,95 45 2.3 _ —
P450 Ediswan 5Z 10 13 3000 — 850 — — 6,5 — — — —
P453 SFR 5Z 126 9 3000 — 600 — — 5 — — — —
2500 200 600 540 140 — — iz — e
P500 SFR 5Z 10 5 2000 — 1000 — — 6 — — — —
2000 250 850 480 5) — — PN, — —
P535 Ten 5Z 10 2 1000 — 300 — — 2,8 — — = —
P535/1E STC 47 26 2 15k 1000 1250 15A* DbHA* — — L i/ 42
15k 800 1250 15 1,5 — — — 0,8 —
P552/1E STC 4Z (= 5D21) — — — — — — — — — —
P560 Ten 5Z 10 5 2000 — 400 — — 4 — — e —
P600 SFR 5Z 10 10 2500 — 700 — — 6,5 — s = —
P690A CSF; SFR 5P 10 10 3000 800 800 — — 6,5 — e = =
2800 150 600 470 45 P =L = & ==
P610 Gecovalve; Osram 3 6 0,1 150 — —_ — — 2,3 8 3.5 — —
P625 Gecovalve; Osram 3 6 025 250 26 = 24 — 2,5 6 24 — —
P625A Gecovalve; Osram 3 6 0,25 200 39 — 25 — 23 3,7 1,6 — —
P800 Marconi (It) 5Z 12 16 3000 — 500 — — 9 200 —_ o s
3000 180 500 400 100 — — Sl = A
3000 400 500 700 150 — i flela ri £
P1000 SFR 5Z 12 6,25 - .3000: = 1000 — — 6 Lk ENl RS S
3000 250 950 615 100 — 2E 2N o i
P1300 CSF 5Z 10 20 4000 300 950 1000 - 15 — = L2 =
3000 250 800 820 95 i = 2 s S
P1806 SFR 5Z 22 110 18k  — 4500 — — 9,5 — e 1% o e
18k 330 1000 2,2A 900 —_ = il e -
PAl RBrimar 3 4 1 200 9 — 490 — 12 12,6 1,06 4 260
PA20 Ediswan 3 2 2 250 27,2 — 50 — 5,4 6,5 1,15 2,22 545
300 -.37,2 — 84 — — — — 5,3 440




nax i
Wa Wo Cagl Cin Co F ADDENDA %
w w pF pF pF Mc

125 — 0,017 16 17 30 max; Fm: 75 Mc 43
— 420 — — — — mod, pp(B); Ia(m): 310 mA; Vg3: +45V

— 50 — — — — tph, (B); Vg3: +45 V;, (Win)HF: 1 W

— 145 — — - = tph, (C), M/a+g2; Vg3: +45V; (Win)HF: 15 W

— 245 — —_ — — tgr, (C); Vg3: +45V; (Win)HF: 2 W

125 — 0,1 i} 14 15 max; Fm: 30 Mc; Wg2: 25 W 43
— 45 — — — — tph, (B); (Win)HF: 1 W

— 40 — — — —_ tph, (C), M/g3; Vg3: —300 V

— 160 — — — — tgr, osc, (C); (Win)HF: 1 W

90 — 0,03 20 16 — max; uglg2: 6; Ik: 200 mA 441
—_ 135 — — — — tgr, (C); Igl: 3mA; (Win)HF: 04 W

100 — 0,05 43 27 — max; Fm: 23 Mc; Ik: 300 mA; uglg2: 5 442
— 250 — — — — tgr, (C); Igl: 15 mA; (Win)HF: 4 W

129 — 0,1 16,5 23 50 max; Fm: 150 Mc 302
150 — 0,1 16,5 23 —_ max; uglg2: 9; Ik: 250 mA 302
— 240 — —_ — — tgr, (C); Igl: 10 mA; (Win)HF: 16 W

—_ — — — — — LF; WoLF 2
= — — — — — max; WoLF 2
— — — — — — max; WoLF 2
400 — 0,2 32 22 2 max; Fm: 50 Mc; Wg2: 80 W 1490
— 1980 —_ e — iy mod, pp(B); Ia(m): 900 mA; Vg3: +100 V

— 210 — — — — tph, (B); Vg3: 0V

— 730 — — — — tph, (C), M/a-+g2; Vg3: +100 V; (Win)HF: 13 W

— 1200 — — — — tgr, (C); Vg3: +100 V; (Win)HF: 0,8 W

L — — — — UEL 43
1.5 0,17 — — — —_ WoLF 2
2,5 0,3 — — - — WoLF 2
— 0,5 — — — — WoLF 2
450 — 0,2 50 30 10 max; Wg2: 100 W; Fm: 20 Mc 65
450 — 0,05 32 25 — max; uglg2: 3,5; Ik: 700 mA; Wg2: 100 W 443
— 940 — — —_ — tgr, (C); Igl: 8 mA; (Win)HF: 256 W

300 — 0,2 50 25 — max; Fm: 20 Mc; Ik: 550 mA; uglg2: 5 63
— 700 —_ — st — tgr, (C); Igl: 9 mA; (Win)HF: 4 W

45 55 0,05 18 11,5 .30 max; (= E1054C) 303
60 — 2 35 5 — max;-pu; *pk; (= T15B); th: 60 sec 27
— — — — — — pu mod; Ia pk: 15 A; Igl: 10 mA

= = — = o — 27
125 200 0,12 26 22 25 max; pglg2: 6; Wg2: 30 W 304
350 — 0,1 23 28 20 max; Fm: 75 Mc; uglg2: 6; Ik: 550 mA 302
400 — 0,1 24 22 30 max; Fm: 60 Mc; Wg2: 80 W; Ik: 600 mA; Ig: 20 mA; uglg2: 6,5 302
— 950 — — — —_ tgr, (C); Vg3: 0V; Igl: 14 mA; Vin pk: 310 V; (Win): 45 W

— — - — — — WoLF —
6 — — — — — WoLF 2
5 — — — — — WoLF 2
800 — 0,2 45 23 15 max; Fm: 30 Mc¢; Wg2: 100 W; uglg2: 3,5 43
— 400 - — — — tph, (B); (Win)HF: 6 W

— 1500 — — = — tgr, (C); (Win)HF: 6 W

600 — 0,07 60 31 7 max; Fm: 23 Mc; Ik: 800 mA; uglg2: 4 63
— 12590 — — —_ tgr, (C); Igl: 13 mA; (Win)HF: 6 W

1000 — 0,3 32 28 30 max; Fm: 50 Mc; Igl: 40 mA; Wg2: 150 W 483
— 2000 e — —_ — tgr, (C); Igl: 30 mA; (Win)HF: 10 W

20k = 0,3 45 54 1 max; (w); Ik: 4 A; nuglg2: 7 64
— 27k — — — a— tgr, (C); Igl: 1 A; (Win)HF: 1,1 kW

— 1,8 — — — — WoLF 189
15 25 — — —_ — WoLF, (A) 2
— 9 — — —_ —_ WoLF, pp(AB); Ia(m): 112 mA
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Vi If Va Vgl Vg2 1Ia Ig2 S Ri Ra
TYPE | * Se) (Ra-a)

v A vV —V VY “mA mA mA/mV kQ kQ

PA4O Ediswan 3 4 2 450 96,5 — 110 - 10* 4,25% 042% 4
PA5021 EUR 2R (= DCG4/1000E) — — — — — — —_ —
PAB1 Philips 24242 6,3 0,3 200 — — 0,8 — — — — —
PABCS80 EUR 3+2+2+2 956 0,3 (= EABC80) — — — — — — —
PAL12/15 Philips 5Z 22 80 12k — 2000 — — 8 — — —
12k 400 1500* 1A 40* — — — —

12k 500 1500*% 1,9A 525* — e — —
PAWI12/15 Philips 5Z 22 80 12k — 2006 — — 8 — — —
PB1/150 Philips 5Z 10 3,25 1750 — 750 — — — — — —
PB2/200 Philips 5Z 12 3,35 2000 — 400 — — 3.3 — — —
2000 65 400 775 6,5 — — — —
1800 150 300 100 83 — — — —
1800 150 300 114 60 — — — —_
2000 150 300 68 83 — — — —
2000 150 300 190 80 — — — o
PB2/500 Philips 5Z 12 7,3 2500 — 500 — _— 6 — — —
2500 90 500 100 12 — — — 10
2000 50 350 170 12 — — — —

2000 150 300 235 129 — — — —
2000 150 300 175 153 — — — —_
2500 150 400 340 150 — — — —
PB3/800 Philips 5Z 12 8,5 3000 — 750 — — 6,5 — — —
3000 160 600 100 16 — — —_ 8,8
3000 120 500 215 30 — — — —
2500 300 500 325 135 — — — —
3000 300 600 190 165 — — — —

3000 200 300 550 100 — — — —
PB3/1000 Philips 5Z 12 1.5 3000 — 1000 — — 6,5 — — —
PBF2 Philips 5+2+2 6,3 0,3 250 3/21 100 6 15 1,125 — 600 —
PC03/3A Philips 5Z 2 0,24 300 — 125 — —_ 14 o — —
PC03/3B Philips 5Z 4 0,13 (= PC03/3A) — — — — — — —_
PCO05/15 Philips 5Z 4 11 500 — 300 — — 1,25 — — —
PC1/50 Philips 5Z -+ 2 1000 — 300 — LB 1,5 — — -
PC1,5/100 Philips 5Z 10 2 1500 — 500 — — 1.7 — — —
1500 200 300 130 55 — — — —
PC3/1000 Philips 587 12 4 3000 — 1000 — — 6 — — —
PC86 EUR 3 3,8 0,3 (= ECS86) — — = — i — —
PC88 EUR 3 3,8 0,3 (= EC88) — — — — - — —
PC92 Siemens; Telef. 3 3,1 0,3 (= UC92) — — —_ = — — o=
PC9I3 Siemens 3 3,8 0,3 (= EC93) — — — — —_— — —
PCI5 Philips; Mullard 3 3,6 0,3 (= EC95) —_ — — — — _— —
PC96 RFT 3 3,5 0,3 200 0,9 — 12 — 7.2 67 — —
PCYY EUR 3 (= 4FY5) — — Sk S — (L Ly SO e
PC900 EUR 3 4 03 - (= ECI00) * — = — -— 2 O
PCA21 Marconi 5Z 20 100 10k — 1500 2A — — — — —
PCC84 - EUR 3+3 7 08 (= ECC84) — —— - — — — =
PCC85 EUR 343 9* 0,3 200 21 — 10 — 58 48 —_ —
170 15 — 10 — 6,2 50 — —

100 1,1 — 45 - 46 50 — -
200 — — 52 - 23 — 15 8,2
170 — — 4,8 — 2,2 — 16 47
100 — — 2,2 — 1.7 — 20 47
180 — — 8 — — — — 44

POC88 EUR 3+3 76 - 03 (= ECCS8) — & — — — — Lo
PCC89 EUR 343 75 0,3 90 1,2 — 15 — 12,3 36 2,9 —
180 — — 15 — 12 — — —

PCC186 EUR 343 7.2 0,3 (= ECC186) — — — — — —_ —
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Wa Wo Cagl Cin Co P
max ADDENDA

w w pF pF pF Mc %
40* 41 — — — — WoLF, pp; Ia(m): 230 mA; *1 trio 2
— — — —_ — — 17
— — — — — -— det 191
— — — — — — 61
8000 — 0,05 58 30,5 2 max; (fa); Wg2: 1,5 kW, uglg2: 4; Fm: 50 Mc —
— 4000 — — — — tph, (B); * g2+¢g3; Igl: 66 mA; (Win)HF: 45 W

— 148k — — — — tgr, (C); * g2+4g3; Igl: 180 mA; (Win)HF: 180 W

12k — 0,05 58 305 2 max; (w); Fm: 50 Mc; Wg2: 1,6 kW —
70 — — — — max; mod —_
110 — 0,15 13,7 14 20 max; Wg2: 256 W; Fm: 60 Mc; uglg2: 5,9 305
— 45 — — — — teph, (B); Igl: 2,5 mA; (Win)HF: 0,25 W; Vg3: 0V

— 124 — — — — tph, (C), M/a; Igl: 7,5 mA; (Win)HF: 19 W; Vg3: 0V

— 147 - — — — tph, (C), M/a-+g2; Igl: 6 mA; (Win)HF: 14 W; Vg3: 0V

—_ 43 e —_ — — toh, (C), M/g3; Igl: 8 mA; (Win)HF: 1,9 W; Vg3: —180 V

— 270 —_ — —_ —_ tgr, (C); Igl: 7,6 mA; (Win)HF: 2 W; Vg3: +300 V

250 — 0,2 23 20 10 max; Wg2: 60 W; Fm: 60 Mc; uglg2: 6,2 306
— 1000 — — — — mod, pp(B); Ia(m): 566 mA; Ig2(m): 190 mA

— 90 — — — — tph, (B); Igl: 6 mA; (Win)HF: 0,7 W; Vg3: 0V

— 325 — — — — tph, (C), M/a+g2; Igl: 25 mA; (Win)HF: 7,5 W; Vg3: 0 V

— 100 — — — — tph, (C), M/g3; Igl: 24 mA; (Win)HF': 6,2 W; Vg3: —250 V

— 600 — — - — tgr, (C); Igl: 20 mA; (Win)HF: 54 W; Vg3: 0 V

450 — 0,05 29 21 10 max; Fm: 60 Mc; Wg2: 100 W; uglg2: 35 307
— 1900 — — — — meoed, pp(B); Ia(m): 770 mA: Ig2(m): 210 mA

— 190 — — — — tph, (B); Igl: 4 mA; (Win)HF: 0,7W; Vg3: 0V

—_ 580 —_ — —_ —_ tph, (C), M/a-+g2; Igl: TmA; (Win)HF: 2,7 W; Vg3: 0V

I 200 — — — == tph, (C), M/g3; Igl: 5 mA; (Win)HF: 1,7 W; Vg3: —190 V

— 1200 — — — — tgr, (C); Igl: 25 mA; (Win)HF: 9 W; Vg3: 4300 V

600 1250 0,05 45 20 5 max; Fm: 20 Mc; Wg2: 100 W; uglg2: 4 63
— — 0,006 — - — — HF, MF+det 85
3 — 0,2 8,5 11 20 max; Wg2: 15 W; uglg2: 3,3 308
- — — — — — 308
15 20 0,2 11,5 10 20 max; Wg2: 5 W; uglg2: 35 308
35 — 0,04 14 19 20 max; Wg2: 10 W; uglg2: 3 309
85 — 0,03 28 19 20 max; Wg2: 25 W; uglg2: 2.7 310
— 140 — — — — tgr, (C); Igl: 2 mA; (Win)HF: 0,6 W; Vg3: 0V

600 —_ 0,05 45 20 15 max; uglg2: 4,5; Fm: 20 Mc; Wg2: 100 W —
— — — — — — 349
— — — — — — 368
— — — — — — 64
— — — — — — 14
—- — — — — — 319
2,5 — 1,8 3 045 — (A); VHF; Raeq: 400 Q; Vi-k: 250 V; Ik max: 15 mA 73
— — — — — — 319
— — — = — — 386
10k — — — — — max; (w) —
. =2 AS L L L * Telefunken, Siemens: 7,2 V 114
2,5 — 1,6 3 1,2 — (A); VHF; *RFT: 85 V 55
— — —_ — — — (A)

= = — — - — (A)

s — = - 2 - 1 trio, mix+osc; Rg: 1 MQ; Vosc: 28V

I e = LA — i mix+osc; Rg: 1 MQ; Vosc: 2,8 V; Rin(100 Mc) : 15 kQ

il S T =7 = = mix—+osc; Rg: 1 MQ; Vosc: 1,8V

1,2 — = = =k = 1 trio; osc; Rg: 22 kQ; Vosc eff: 9V

— Lo i = = =t Vi-k(trio 1): 80 V; (trio 2): 180 V 55
1,8 — 1,9 — — — 1 trio, (A); Vi-k: 200 V 114
et = - = = —_— 2 trio, VHF casc; Vg co: —9 V; n: 5,5 dB

— Lo e e — =F 55
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Vi If Va Vgl vg2 1Ia Ig2 S Ri Ra Rk
TYPE S (Se) m (Ra-a)
E v A v -V V mA mA mA/mV kQ kQ Q
PCC189 EUR 3+3 7,6 0,3 (= ECC189).« — — — — — == = =
PCC805/
30L15 Ediswan 3+3 7 0,3 90 12 L. 15 —_ 9 27 — — —
PCC806/
30L17 Ediswan 343 7.2 0,3 75 — — 15 — 165 40 — — —
PCE82/
30FL12 Ediswan 4B+3 10 0,3 150 — — 10 — 3,7 18 — — —
180 — 180 10 — 125 — — — —
PCES800/
30FL1 Ediswan 4B+3 94 0,3 200 — — 10 — 34 18 — — o
170 — 170 10 — 8 — — — =
PCF80 EUR 543 9 0,3 170 2 170~ 10 2,8 6,2 — 400 — —
170 — 170 65 2 2,2 — 800 — 330
170 — 170 52 15 2,1 — 870 — 820
100 2 — 14 — 5 20 4 — —
PCF80/LZ319 GEC 543 (= PCF80) ' — — — — — — — — — —
PCF382 EUR 543 9 0,3 250 0,9 110! 710 3,33 5,5 — 400 — 68
250 O — 5,6 1,9 1,9 — — — —
200 O — 5,1 2 185 — - — —
179 0 — 5,1 2,1 1,8 — — — —
150 2 — 1Y — 5,8 35 — — —
250 — — 5,7 — == — — 20 —
200 — — 4,1 — = — — 20 —
170 — — 3.3 —_ = e ke 20 P,
PCF86 EUR 5+3 8 0,3 (= ECF86) = —_ — — — — — —
PCF87/50C17 Ediswan 543 7,4 0,3 100 3,2 — 15 = 8,5 20 — — —
125, 15 125 10 11 — — — —
160 —/6,5 1500 173 1,8 438 — — 5,6 —
60 - — 7 — — — == ==
130 —/6,6 100 12,5 3.7 15 — — —= —
PCF200 Philips; Lorenz 5+3 8 0,3 (= ECF200) — — — — — e — —
PCF201 Philips; Lorenz 543 8 0,3 (= ECF201) — —_ — — — — — —
PCF800/
30C15 Ediswan 5+3 9 0,3 100 — — 15 — 6 20 — — —
170 — 170 10 — 9 — — — —
164 — 138 176 2,3 3.3 — — 47 —
120 —. — 6 — — — — — —
PCF801 EUR 5+3 8,5 0,3 = ECF801) — — — — — — —
PCF802 EUR 543 9 0,3 100 1 100 6 1 5,5 — 400 — —
200 2 — 35 = 3,5 70 20 — —
PCF803 Telefunken 543 (= PCF3801) — — — — — — — — —
PCF805 Ediswan 5+3 7,4 0,3 (= ECF805) — — — - — = — —
PCF306 Mullard 543 8 0,3 160 3 — 14 —_ 55 17 3,1 — —
170 1,2 150 10 3,3 12 — 350 — —
190* — 190* 8,5 2.1 45 — — — —
PCF808/
30FL14 Ediswan 5+3 7,4 0,3 100 3 — 14 — 5,5 17 3,1 — —
160,17 160 12 4 145 — —_ — —
PCH200 EUR 743 0,3 (= ECH200) — — — — — — — —
PCLS81 EUR 543 12,6* 0, (= ECLS81) — — — — — — — -
PCL82 EUR 543 16 0,3 170 — 170 42 8 9,2 - 16 3,25 200
200 — 200* 35 8 7,8 — 20 8,5 330
100 0 — 3,5 — 22 70 32 — —
PCL82/
30PL12 Ediswan 543 (= PCL82).; — — — — = — — — — —
PCLS83 Mullard 543 126 0,3 170 9,5 170 390 5 5,5 — 53 — —
170 9,5 170 30 4.8 55 —_ 53 5,5 —
200 13 200 - 27 44 — — — 7,5 —
250 8,5 — 10,5 - 2,2 17 .1 — _—
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Wa Wo Cagl Cin Co P { ;
nax ADDENDA

w w pF pF pF Mec

— s e = — = Vi-k(trio 1): 80 V; (trio 2): 180 V 55
n2 — 15 3,3 019 — 1 trio, (A); Vi-k (trio 1): 90 V; (trio 2): —90/+250 V; Va max: 250 V; casc 114
1,6 e Y et e =L 1 trio, (A); Vi-k (trio 1): 90 V; (trio 2): —90/+250 V; Va max: 159 V; casc 114
1.5 — 2.0 2.4 21 — trio, (A); Vi-k: 150 V; Va max: 250 V 212
2,5 — 0,05 8,4 3 — tetro, (A); VF; Wg2: 1,3 W; Va max: 250 V

9 A 2,4 2,1 2:3 — trio, (A); sync; Vi-k: 150 V; Va max: 250 V 212
3 — 0,047 8 2,1 — tetro, (A); VF; uglg2: 44; Va max: 250 V; Wg2: 1 W

1LY — 0,025 5,2 3.4 — pent; (A); uglg2: 47; Rin(50 Mc): 10 kQ; Raeq: 1,5 kQ; (= 8A8) 70
= = L2 P PN = mix; Rgl: 100 kQ; Vosc eff: 3,5 V; Igl: 20 uA

e s g — = =0 mix; Rgl: 100 kQ; Vesc eff: 3,56 V; Igl: 0 uA

1,5 et 1,5 2,5 1,8 — trio; (A)

= = e — — — 70
2 — 0,01 5,2 2,6 — pent, (A); uglg2: 32; Vgl co: —10 V = 70
v i 2 — e e mix; Rg2: 70 kQ; Rgl: 1 MQ; Vosc eff: 3 V; Igl: 3,7 uA

I e 5] e s al mix; Rg2: 45 kQ; Rgl: 1 MQ; Vcsc eff: 3 V; Igl: 3,8 uA

_ 2N gl 2 ety = mix; Rg2: 30 kQ; Rgl: 1 MQ; Vosc eff: 3 V; Igl: 3,75 uA

1,5 — 1,8 2,5 0,4 — trio, (A)

Lt — S = - . osc; Rg: 20 kQ; Ig: 160 nA; Vosc eff: 3V

Btk s o 4 - — = osc; Rg: 20 kQ; Ig: 160 uA; Vosceff: 3V

i o Fred et — A osc; Rg: 20 kQ; Ig: 160 uA; Vosc eff: 3V

L — — — — - 479
2 — 1.9 3.3 2.1 e trio, (A); Vi-k: 200 V; Ik max: 18 mA; Va max: 250 mA 414
2 — 0,008 6,5 2,8 - pent, (A); uglg2: 45; Wg2: 0,6 W; Vg2 max: 230 V

s hozé ) e i 200 pent, VHF mix; Vb: 200 V; Rg2: 27 kQ; Rgl: 2,2 MQ; Igl: 1,3 uA

o _ s . ot = trio, osc; Rg: 47 kQ

— — S — — 36 pent, V-MF; Vb: 200 V; Rgl: 2,2 MQ; Rin: 11 kQ; Cin: 11 pP

— — — — — — 503
— — — — — — 503
15 e 1.7 2,9 3 — trio, (A); Vi-k: 200 V; Ik max: 15 mA; Va max: 250 V 414
1,7 =— 0,017 6,8 45 — pent, (A); uglg2: 55; Va max: 250 V; Ik max: 14 mA

- S a2 i 2 o pent, VHF mix; Vb: 200 V; Rg2: 27 kQ; Rgl: 100 kQ; Vosc eff: 3,7V

s i o o = S trio, osc

— — — - —- — 492
1.2 — 0,06 5,4 2 P pent, (A); TV dvh osc; Vi-k: 100 V; Wg2: 08 W 70
14 — 1,5 24 0,1 — trio, (A); Ik max: 10 mA

— — — — — - 511
- ! e L 2 = 508
15 —_ 2 2,2 1,2 S trio, (A); Va max: 125 V; Ik max: 15 mA; Vf-k: 100 V 492
2 — 0,012 6 3.3 — pent, (A); uglg2: 70; Va max: 250 V; Ik max: 18 mA; Vg2 max: 150 V

ol e W - — i pent, VHF mix; * Vb; Rg2: 18 kQ; Rgl: 100 kQ; Vosc eff: 23V

2 — 2,1 2,4 1,6 - trio, (A); Va max: 250 V; Ik max: 15 mA; Vi-k: 200 V 509
— — 0,008 64 27 40 pent, (A); TV-MF; pglg2: 49; Cin: 10,6 pF; Ik max: 18 mA

— — — — — — 52
= = — — = — *RFT: 14 V 311
7 3:2 0,3 93 8 — pent, WoLF, (A); uglg2: 9,5; TV dvv, Va pk: 2000 V 312
Xy '3 = e — — WOLF, (A); * Rg2: 470 Q

1 44 2.1 43 = trio, (A); LF

ALy . e ol ) 3 as 312
5,4 — 0,2 5.7 47 — pent, (A); nglg2: 10; TV dvv; Va pk: 2000 285
— 2,2 — — — — WoLF, (A)

PL 5 e o N = WOoLF, (A)

3,5 — 1,6 2 0,35 — trio, (A); LF
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vE If Va Vgl Vg2 1Ia Ig2 S Ri- -Ra Rk
RN K * S u (Ra-8)
v A v -V V mA mA mA/mV kQ kQ Q
PCL84 EUR 543 15 0,3 0 21 170 18 3.1 11 — 100 — —_
220 34 220 18 3 10 — 150 —_ —
200 1,7 — 3 — 4 65 — — — &
PCL85 EUR 5+3 18 0,3 = ECLS85) —_— — - - — — - —
PCLS86 EUR 543 15 0,3 (= ECLS86) — — — — — — — —
PCLS88/
30PL14 Ediswan 4B+3 16 0,3 100 — — 10 — 43 18 — — —
170 — 170 50 — 7.3 — — — —_
PCL800/
30PL13 Ediswan 4B+3 16 0,3 100 — — 10 — 4,3 18 — — —
170 — 170 45 8,7 75 — — — —
PD220 Ediswan 3+3 2 0,2 150 1,15 — 0,8 - 0,9* — — 10 —
PD220A Ediswan 3+3 2 0,2 150 6 — 2,5 — 1,6* - — 10 —
PDD2 Brown-Boveri 54+2+2 6,3 0,9 250 6 250 36 5 9 — 50 7 140
PE04/10E Philips 5Z 12 065 500 — 300 — - 15 — — — —
PEQ4/10P Philips 5Z (= PE04/10E) — — — — — — — — —
PE)5/15 Philips 5Z 12 0,37 500 — 300 — —_ 1,5 - — —
PE05/25 Philips 5Z 126 0,7 500 — 300 — — 3.3 — —_ — —
500 24 250 - 36 1,2 — — — 9 —
500 28 250 36 3 — — — — —
400 80 200 70 45 — — — — —
500 80 250 90 5 — - — — —
400 250 250,525 3 —- — — — —
PE06/40E Philips 5Z 12,6 0,65 600 — 300 — — 4 — = — —
600 45 300 68 6 — — — 6 —
600 40 250 60 3 — — — — —
500 175 300* 114 10 — — — — —
600 75 300 109 115 — — — — —
600 100 300 87 11 — — — —_ —
PE06/40N Philips 5Z 6,3 1,6 (= PE06/40E) — — —_ — —_ —_ — —
PE06/40P Philips 5Z 6,3 1,6 (= PE06/40E) — — — —_ — — _ —
PE08/40 Philips 5Z 126 0,68 800 — 250 — — 5 — — =0 —
PE1/80 Philips 5Z 12 0,9 1000 — 500 — — 2,5 — — — —
PE1/100 Philips 5Z 126 1,35 1000 — 300 — — 6 — — — —
1000 34 250 52 10 — — — 8,8 —
1000 34 250 68 4,5 — — L — —
800 120 250 120 23 — . = = —_
1000 100 150 .72 24 —_ = A s —
1000 120 250~ AT 28 2 — — — e
PEN4DD Mullard 54+2+2 4 2256 250 6 250 36 5 9,5 — 50 f { —
PEN4V Mullard 5 4 1 250 10 200 35 — 3 — — 8 —
PEN4VA Mullard 5 4 1,35 250 — 250 36 3 2,8 — 40 6 500
PEN4VB Mullard 5 4 195 250 5.8 250 36 5 9,5 — 50 8 —
PEN13C Mullard 5 13 0,5 250 12 250 .32 7 6 — — 6,4 250
PEN24 Ediswan 5 2 0,3 120 33 120 5 1 57 — — 15 —
PEN25 Ediswan 5 2 0,15 120 3,6 120 5 1 3 — — 14 —
PEN26 Mullard 5 24 0,2 200 19 100 40 5 31 - — 5 —
PEN36C Mullard 5 33 0,2 200 8,5 200 45 6 8 — 35 45 167
PEN40DD Mullard 5+4+2+2 44 0,2 (= PEN36C) — — — At = e P B
PEN44 Ediswan 4B 4 2,1 240 10,1 250 64 11 10,6 — — 2,65 —
260 11,1 270 140* 24* — — — 4 —
PEN45 Ediswan 4B 4 1,7 2560 85 250 40 8 8,8 — — 4.7 180
PEN45DD Ediswan 4B+2+2 4 2 (= PEN45) — — — — == e LA RdTK
PEN46 Ediswan 4B 4 17 315 %8 230 63 14 8,5 — — — 100
PEN220 Ediswan 5 2 0,2 150 49 150 9 1,6 2,2 — —_— 14 —
PEN231 Ediswan 5 2 0,3 110 22 110 46 0,9 53 — — 19 —
PEN383 Ediswan 4B 38 0,2 160 10 170 64 13 12 — —_ 2,6 130
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Wa Wo Cagl Cin Co ¥ [
nax ADDENDA %]u:@
w w pF pF PP Mc

4 — 0,1 8,7 4,2 —_ pent, (A); VF; uglg2: 36 444
= = — — = — (A); VF

Bk —_ 2.5 3,8 23 — trio, (A); sync; LF

e = 0,45% — — — *pent; Vi-k: 200 V 480
= — — — — — 482
1 — 23 2,3 2,5 —_ trio, (A); Va max: 250 V; Vi-k: 150 V 230
8 — 0,32 10,9 10,3 — tetre, (A); TV-dvv; Va pk: 2 kV; Ik max: 75 mA; uglg2: 7,5

1 — 2,3 2,4 2,3 — trio, (A); Va max: 250 V; Vi-k: 150 V 230
7. — 0,36 10,4 10,3 — tetro, (A); TV-dvv; nuglg2: 8,3; Va pk: 2 kV; Ik max: 756 mA

= bl = o Sl — WcLF, pp(B); *1 trio 258
= o == — fhs i WOoLF, pp(B); *1 trio 258
11 45 — — — — det+WoLF, (A); d: 10 % 226
19 15 0,1 16 7.5 20 max; Fm: 60 Mc; Wg2: 3 W; uglg2: 25; (= 837) 143
— — — — — — 72
15 17 012 12,7 57 20 max; Fm: 60 Mc; ugleg2: 3; Wg2: 5 W 72
12 — 015 145 178 100 max; Wg2: 5 W; uglg2: 7,6; Vg3: 0 V 313
— 49 — o e el mod, pp(B); Ia(m): 142 mA; Ig2(m): 22,4 mA

S 6 - —_ — —_ tph, (B); Igl: 2 mA; (Win)HF: 0,01 W

s 20 = = . —_ tph, (C), M/a+g2; Igl: 2,5; (Win)HF': 0,25 W

—_ 33 — —_ —_ —_ tgr, (C); Igl: 3 mA; (Win)HF: 0,26 W

—_ 9 — — = =< Fx3, 56/168 Mc; Igl: 1,2 mA; (Win)HF: 0,3 W

25 — 0,1 15 8,7 20 max; Fm: 60 Mc; Wg2: 5 W; uglg2: 55; Vg3: 0 V 314
— 100 — — — — mod, pp(B); Ia(m): 220 mA; Ig2{(m): 36 mA

— 11 — — — — tph, (B); Vin HF pk: 20 V

— 40 — — — — tph, (C), M/a+g2; Igl: 1,4 mA; (Win)HF: ¢,1 W; * Rg2: 20 kQ

— 45 —_ —_ — — tar, (C); Igl: 2 mA; (Win)HF: 02 W

== 27 =0 e e o Fx2, 2/4 Mc; Igl: 1 mA; (Win)HF: 0,1 W

— = — — S — 315
— = =t — - —_ 72
30 —_ _— s — - max; puglg2: 5; Wg2: 5 W; Ik: 115 mA —_
35 85 0,1 15 12 20 max; Fm: 60 Mc; Wg2: 6 W; nugig2: 3.9 72
45 — 0,1 20,5 11 60 max; uglg2: 6,7, Wg2: 7 W; (= 6083/ 9909) 183
— 194 - _— — —_ mod, pp(B); Ia(m): 268 mA; Ig2(m): 56 mA

— 23 — _ — —_ tph, (B); Igl: 2 mA; (Win)HF: 0,08 W

Lo 75 AR =5 = = tph, (C), M/a+g2; Igl: 6,6 mA; (Win)HF: 09 W

— 27 — — — — tph, (C), M/g3; Igl: 10 mA; (Win)HF: 1,3 W; Vg3: —100 V

— 132 — — — —_ tgr, (C); Igl: 5 mA; (Win)HF: 0,65 W

9 4,3 0,5 13 9,5 —_ det+WoLF; d: 10 % 316
- = == — S —_ WceLF 122
9 3,8 — s e e WoLF, (A); d: 10 % 122-123
9 3,8 — — — =t WoLF, (A) 123
8 3,2 — — — S WoLF, (A) 123
— 0,44 — — — — WoLF, (A) 323
— 0,4 — - — — WoLF, (A) 323
_ 3 e = e o WOLF, (A) 174
9 4 = = L == WoLF, (A); d: 10 %; uglg2: 13,5 123
— — 1 9,8 8,4 — det+ WoLF 445
18 7,85 0,9 24 11 — WoLF, (A) 58
Y 20 e - =y ol WoLF, pp(B); *Vin: 0 V; Ia(m): 166 mA

10 5,4 0,85 22,75 1225 — WoLF, (A) 58
— — 0,7 19,5 12,7 — det+WoLF 141
20 — 1,25~ ~22 6 — TV dvh; Va pk: 3 kV 142
rs 0,6 i foe 13 e WOLF, (A) 195
— 0,29 — — — — WOoLF, (A) 195
10 3,75 0,7 21,5 135 — WoLF, (A) 58
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A48 If Va Vgl Vg2 Ia Ig2 S Ri Ra Rk

| San E * (8c) n (Ra-a)
v A V- s V mA mA mA/mV kQ kQ Q
PEN384 Ediswan 4B 38 0,2 10 7 110 40 2,9 125 — RiG 2,2 160
PEN428 Mullard 5 4 2,1 250 — 250 72 it - — - 3,2 150
376 — 275 96 10 = — — 6,5 165
PEN453DD  Ediswan 4B+2+2 45 0,2 160 10 175 64 13 12 — — 2,6 130
PENG650 Mullard 5 (= EL50) — — Lt v i s 2 2 s i
PEN1340 Ediswan 5 13 04 200 175 200 30 5 6,5 — = =58 215
PEN3520 Ediswan 5 35 0,2 200 8 200 40 8 7 E = i 165
PEN3820 Ediswan 4B 38 0,2 160 10 175 64 13 12 == e 2,6 130
PENA1 Brimar 5 4 1 250 16,5 250 32 6,5 3 = =t 8 450
PENA4 Mullard 5 4 1,95 250 5,8 250 36 5 9,5 == 50 8 145
PENB4 Mullard 5 4 2,1 250 — 275 T2 7 8,5 = 22 3,5 175
PENDD4020 Ediswan 54242 40 02 240 17,75 250 43 8,5 7 = I 48 150
PENDD4021 Ediswan 4B+2+2 45 0,2 160 10 175 64 13 12 — — 2,6 130
PF9 Philips 5 6,3 0,3 250 3/525 100 7 1.7 165 — 600 — —
PF83 Telefunken 5 45 0,3 (= EF83) — s ol ot <1 i B &
P86 Philips; Siemens 5 45 0,3 250 2 140 3 0,6 2 o 2,5M — =
PFL200 EUR 5+5 16,5* 0,3 (= EFL200) — — — — — = — —
PH4 Philips 7 6,3 0,3 (= OH4) LRl N — - o . el B
PJ7 GE 3Z 4,5 i 350 — =57 740 — = 30 = = —
PI8 GE 3Z 4,5 1,1 350 — 2= 4D = = 8,5 - - —
PJ21 GE 3Z 45 1,1 350 — = 19 — s 3 e 22 —
PL33 Mullard 5 19 0,3 200 4,65 200 28 3 8,6 = B5 . 7 150
PL36 EUR 5 25 0,3 (= EL36) —- - — — — — — —
PL38 EUR 5 30 0,3 200 5,5 200 75 9 s e 20 e —
PL38M Mullard 5 = PL38) = =  — o S La ey 2os = =
PL81 EUR 5 215 03 200 28 200 40 2,8 6 = 1 = Tt
170 24 170 45 3 6,5 = 15 — A
PL82 EUR 5 16,5 03 (= ELS82) ey — — — — — —
PL83 EUR 5 15 0,3 200 35 200 36 5 ;57 T 100 == AL,
170 - 2.3 170 36 5 105 — 100 — —
PL84 EUR 5 15 0,3 (= EL84) B = — — — ES sk =Y
PL84/N379 GEC 5 (= PL84) — — . e — = ’od =t P =
PL95 RFT 5 4,5 0,3 200 6,25 200 23 4,2 5 gs 80 8 230
200 — 200 35 6,4 = = o 10 180
200 10 200 14 2,4 Ly = L 10 i
PL302/30P19 Ediswan 4B 25 0,3 400 — 250 200% @ — =2 = =k == o
PL500 EUR 4B o7 0,3 (= EL500) — - — — — == o —
PL820 Mullard 5 215 03 200 28 200 40 2,8 6 = 11 — g
B 190 22 170 45 3 6,2 = 10 B =
PLLS) Lorenz 545 12 0,3 (= ELLS0) g 8 — — — = s s
PMO04 SFR 5 (= 6BA6) — — B Sle == £ = == LY s
PMO05 SFR 5 (=.B6ARKE) - e - = L1 o - ol IS Tes
PMO7 CSF; SFR 5 (= EF91) — — 27 7 el — o =5 ik 5 e
PM07/6AM6S CSF b (= EF91) — — s L — e Lt e P
PMIA Mullard 3 2 0,1 100 0 e 1,060 — 12 50 416 — —
PMI1HF Mullard 3 2 0,1 100 0 — v 23 == 0,8 18 225 — =
PM1HL Mullard 3 2 0,1 135 15 — 22198 = 1.2 28 2 =
PMILF Mullard 3 2 0,1 100 0 — 5,8 s 0,9 11 12 o P2
PM2 Mullard 3 9 0,2 150 12 — 66 = 1 7,5 44 9 =
PM2A Mullard 3 2 0,2 135 6 = 5 — 2 12 6 7 =
PM2B Mullard 3+ 2 0,2 120 0 — 3 — = T == 14 =
PM2BA Mullard 3+3 2 0,2 120 45 — 3 = 2,157+ e £ 14 =
PM2DL Mullard 3 2 0,1 120 45 X 1,5 == 1,5 18 12 L =
PM2DX Mullard 3 2 0,1 135 45 = ) = I 18 18 Ae ik
PM2HL Mullard 3 2 0,1 135°. 15 = 22 = 14 30 % R —
PM5 Philips 1+1 63 03 200 0/5 Dl R e o = == it M =
200 0/13 SCUT P = = ol el INE e
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Wa Wo Cagl Cin Co F (P
b ias ADDENDA
w w pF pF pF Mc W
10 1,9 0,4 22 11,50 e WOLF, (A) 58
18 8 — — = =& WoLF, (A); d: 10 % 123
= 28 =k == . L WOoLF, pp(AB2); Ia(m): 124 mA; Ig2(m): 18 mA
10 3,75 0,75 18775 13 — det+WoLF 141
el b s e i 403
= e o] 2 8 — WoLF 123
8 3 T e = e WoLF, (A) ” 123
10 3,75 — — — — WOoLF, (A) t 108
o 2,7 == e — - WOoLF, (A) 195
9 3.8 2 14 7 — WoLF, (A); d: 10 % 123
18 8,8 9 14 11 —_— WoLF, (A); d: 10 % 123
10 39 - — — == WoLF, (A) 190
10 3,75 1,1 18 9,955 det+WoLF 446
uE s5es 0,007 — et = HF, MF 56
L e - i = == 184
1 — 0,05 3,5 5 — (A); LF; uglg2: 38; Vi-k: 100 V 184
i o= =N — — — *Lorenz: 19 V 504
i, s ey o s e 14
10 o — = — — max =
10 S = = — — max &2
&) — — —_ — — max L
9 2,55 1 — — — WOoLF, (A); uglg2: 23; TV dvv ]
S £ s — 2t = 317
25 —- 1,2 18 6,5 = (A); uglg2: 16,5, TV dvh; Va pk: 8 KV 68
R 2 SN 9,5 — 268
8 — 0,8 147 64 = (A); uglg2: 5,3; TV dvh; Va pk: 7 kV 98
== 1= = iy == = (A); (= 21A6)
et = . Pt = — 90
9 — 0,1 10,8 6,6 — (A); uglg2: 24; VF; (= 15A6) 99-291
==} S L L E == — (A)
— g — Al — — 432
e - e 2y = = 90
6 2,3 0,4 5,3 3 — WoLF, (A); uglg2: 17; d: 12 %; Va max: 300 V; Vi-k: 200 V 88
s . Ll =B — — PP(ABI1); Ia(m): 40 mA; Ig2(m): 10,4 mA; Vin eff: TV; d: 45 %
o e 2 == — pp(B); Ia(m): 38 mA; Ig2(m): 10 mA; *Vineff: 7V; d: 3,5 %
10 — 0,3 18,5 12 R max; TV-dvh; Va pk: 7 kV; Vi-k: 200 V; *Ik 193
. = e e . = * Magnoval 238*
8 =f SEP L2l =W =B (A); TV dvh; Va pk: 7 kV; Ik: 180 mA; spec 93
= S e — == — (A)
R s = - il — 481
e S s i £ £ spec 381
= 5o P, s — — spec 405
= 2= D — b — spec 412
— uils ke et i 2t spec 412
= AN = s = &= (A); LF; Va max: 150 V 2
- = s —— = o (A); LF; Va max: 150 V 2
- LW LA/ = == — (A); LF; Va max: 150 V 2
o, —_ =3 = s — (A); LF; Va max: 150 V 2
= ey " v ¢ —_ WoLF 2
— 0,15 5,5 6,3 3,3 — WoLF, (A) 9
A 1,25 = s — iy WoLF, pp(B); Ia(m): 20 mA 141
— 1,45 — — —_ — WoLF, pp(B); Ia(m): 20 mA 141
e Lo st e 2e == (A); LF; Va max: 150 V 2
ek Bz e . — s (A); LF; Va max: 150 V 2
0,75 — 3,2 3,6 4 —_ LF 2
£z el e s = — Vt: 200 V; It: 0,55 mA 8
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VE If Va Vgl Vg2 1Ia Ig2 S Ri Ra Rk
TYPE E * (Se) n (Ra-a)
v A v -V V mA mA mA/mvV kQ kQ Q

PM12 Mullard 4 2 0,15 150 0 75 43 — 1,1 — 180 — —
PMI12A Mullard 4 2 0,18 125 0 75 2 — 15 — 330 — —
PM12M Mullard 4 2 0,18 150 0/7 90 2 0,5 14 — — — -
PM22 Mullard 5 2 0,3 150 10 150 - 15 — 1,3 — — 8 -
PM22A Mullard 5 2 0,15 135 45 135 - 5,8 — 2,2 — 150- 19 —
PM22D Mullard 5 2 0,3 135 24 135 5 0.8 3 — — 24 —
PM24 Mullard 5 4 0,15 150 - 11 150 20 — 1,75 — — 8 —
PM24A Mullard 5 4 0,275 300 22,5 200 20 3.5 2 — — 10 —
PM24B Mullard 5 + 1 300 35 300 40 T 2.1 — — 8 —
PM24C Mullard 5 4 1 400 28 200 30 4,5 3 — — 12 —
PM24M Mullard 5 4 1,1 250 17 250 30 5,6 3 130 43 7 —
PM84 EUR 1 4.2% = 03 — EMS84) — — — — — — — s
PM202 Mullard 3 2 0,2 150 - 12 — 14 — 3,5 7 2 3 —
PM252 Mullard 3 2 0,4 150 " 2 — 14 — 3.7 7 1,9 45 —
PP2s Tungsram 5 2 0,14 135 5 135 % 1 2,1 315 150 19 —
PP3/250 Ediswan 3 4 1 250 28,2 — 50 — 5,4 6,5 115 2.2 565

300 38,2 — 84 — — — — 53 455
PP5/400 Ediswan 3 4 2 400 32 — 62,5 — 7.2 8,8 122 2% 510
PP6As Tungsram 5 6,3 0,2 250 18 250. 32 5 2; — 70 8 485
PP6BG Tungsram 5 6,3 0,9 250 6 250 36 4 9 — 50 7 150
PP6Bs Tungsram b (= PPEBG) — =2 = = — ey 2 L) - L
PP3521 Ediswan 3 35 0,2 200 25 — 70 — 10 6 0,6 2 360
PT2 Marconi; Osram 5 2 0,2 150 45 150 6,5 1,9 2,5 — — 20 —
PT4 GEC 5 4 1 250, 16 250 32 2,85 120 42 75 420
PT4 Ferranti 5 B 2 250\ 6 250 31 — 7 — —_— 6,5 140
PT4D Ferranti 54+2+2 4 2 250 6 250 - 31 — 7 — — 6,5 140
PT5 Gecovalve; § 5Z 4 197 1250 — 300 — — 4 e — — —
PT6 Marconi 5Z 10 2 1500 — 500 150 - 4 — — — —
PT15 Marconi 5Z 6,3 1,3 1250 200 300 100 — 2,8 e — = —

1250 35 300 35 3 — — — — —

1250 90 275 35 195 — - - — —

1000 70 300 80 23 — — — — —

1250 90 290 90 25 — - — e —
PT16 Gecovalve 5 4 1 300 15 300 53 10 48 — — 5 270 -
PT25 GEC 5 4 2 400 22 200 62,5 10,6 4 100 25 6 330
PT25H GEC 5 4 2 400 16 400 62,5 12,5 6,5 180 28 5 250
PT100 Marconi 5Z 12 3 1500 — 500 — — 2.2 — — — —
PT425 Gecovalve; § 5 4 0250 200 .75 150 15 5 2 100 50 9 350
PT425X Gecovalve 5 4 0,25 300 33 200 20 5 15 120 40 12,7 450
PT625 Gecovalve; § 5 6 0,25 250 — 200 — — 1,85 80 43 — —_
PTA Ferranti h 13 0,6 250 6 250 31 — 7 — — 6,5 —
PTS Ferranti 5 26 0,3 250 8,5 250 32 = L 6 — — 5 -
PTT141 CSF 3 6,3 0,3 150 1,4 — 23 -— 25 — 2 — 60
PTT200 LCT 5 10 032 250 — 135 54 — 19 - — — —
PTT201 LCT 5 10 0,64 180 — 132 31 — 2,9 — — - —
PTT202P CSF 5 18 0,085 200 2,2 200 8 1,6 55 — 800 — 230
PTT203P CSF 5 18 0,4 200 -5 200 35 5 8,5 — 43 — 125
PTT208P CSF 5 18 0,14 200 45 200 18 3.6 6 — 200 — 200
PTT210 CSF 5] 18 0,225 240 — 240 — — 8,3 — — — —
PTT211 CSF 5 6,3 0,6 240 — 240 — £ 8,5 — — — —
PTT212P CSF 5 18 0,11 200 1,6 200 10,5 2 8,5 - 500 — 125
PTTZ213P CSF 5 6,3 0,31 (= PET212P); — — — — — — —
PTT214P CSF 5 6,3 0,3 (= PTT216) — — — — — —_ — —
PTT216 CSF 5 (= 404A) — - — — — — —_ —_ —
PTT217 Adzam 5 (= R150) — — — — — = —_ — — —
PTT240P CSF 4 18 0,28 250 — 250 — — 12,5 — - - —
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Wa Wo Cagl Cin Co F i
nax ADDENDA %
w w pF pF pF Mc

A = 2 R e g HF, MF; Va max: 150 V; Vg2 max: 80 V 202
— e = = == — HF, MF 202
= = A = = o HF, MF 28-202
= S = — = o WoLF 154-402
1 0,34 1 8,5 13 — WoLF 154-402
— 03 1,15 11 11 — WoLF 402
— 0,7 — — — — WoLF 154-402
— 2,5 — — — — WoLF 402
12 4 — e — — WoLF 402
12 4 — — — — WoLF 402
7,5 2,8 — — — — WoLF 402
— — - — — — *Lorenz: 53 V 18
3 0,6 —_ — — — WoLF 2
— 0,6 — — -_— — WcLF 92
- 0,44 — — == — WoLF; (= KL4) 192
15 2,75 — — — — WoLF, (A) 9
— 9 — — — —_— WoLF, pp

25 5,85 — —_ — —_ WoLF, (A) 2
8 3,6 — — — — WoeLF, (A); (= EL2) 174
9 45 — — — — WoLF, (A); (= EL33) 106
— e £ — — —_ (= EL3) 52
— 23 — — — —_ WoLF, (A); d: 5 % 251
= 5 s = > 3= WoLF 194-195
8 1,8 — — — — WoLF 195
8 2,5 — — - — WoLF 123
8 2,5 — - — — det+WoLF 190
40 — 0,03 - e 15 § Marconi; max; nglg2: 10 o
75 — 0,06 — — 15 max; uglg2: 10 Sl
30 — 0,035 22 14,5 15 max; Wg2: 10 V; Igl: 10 mA; Vg3: 40 V 63
— 15 — — £ — tph, (B); Vg3: +40 V; (Win)HF: 02 W

— 14 — —_ [ — tph, (C), M/g3; Vg3: —78 V; (Win)HF': 0,7 W

—_ 60 — — e — teh, (C); M/a; Vg3: +40 V; (Win)HF: 0,7 W

— 82,5 — — —_ — tgr, cosc, (C); Vg3: +40 V; (Win)HF: 1 W

16 6 — — == s WceLF, (A) =5
25 = =5 o = = WOLF, (A) 195
25 6 — — et = WOLF, (A) 195
100 — — - — 15 max —
3 0,7 — — — — § Osram; WoLF, (A) 194-195
6 1,8 — — — —_ WcLF, (A) Sk
— = = == o = § Marconi; Osram; max —
8 2,5 — — == — WoLF 123
8 2,5 — — — —_ WceLF 123-160
45 —_ — 7 1,95 — (A); tel; Vi-k: 70 V; Raeq: 150 Q; n: 2,7 dB; Ik max: 35 mA 159
1,5 — — 4 2,2 — max; LF; tel 447
6 — — 7,6 8,4 m max; WoLF; tel 447
2 — 0,02 T 3,15 — (A); tel; Raeq: 1,3 kKQ; Vi-k: 50 V; Wg2: 0,4 W; Ik max: 12 mA =
8 — 0,3 14 13 — (A); tel; Vi-k: 50 V; Wg2: 1 W; Tk max: 45 mA 449
3,6 — 0,66 9 9 — (A); tel; Vi-k: 70 V; Wg2: 0,7 W; Ik max: 28 mA =
3 — 0,005 10 4 — max; tel =43
3 — 0,006 10 4 — max; tel pacll
2,4 —2 0,03 05 3.9 —_— (A); tel; Vi-k: 70 V; Raeq: 675 Q; Wg2: 0,6 W; Ik max: 15 mA —_
— == = == ==t = 400
e = — — — — 448
9,5 — 0,12 13,57 5,6 — max; tel —
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Vi If Va Vgl Vg2 1Ia Ig2 S Ri Ra Rk
TYPE * (Sc) W (Ra-a)
K v A Vv -V V mA mA mA/mV kQ kQ Q
PTT241P CSF 4 6,3 0,79 220 29 220 35 45 125 — 34 — 75
PTT243P CSF 4 6,3 042 150 15 150 26 6,5 28 — 50 — 45
PTT244P CSF 4 18 0,14 150 1,5 150 24 ) 27 — 30 — 45 -
PTT301 CSF 5 20 0,215 80 1,83 80 2 0,5 3,2 — 500 — 750
PTT302 CSF 5 20 0,215 80 1,6 89 45 1 5 — 200 — 290
PV04-10 Mullard 57Z 12 0,65 500 — 300 — — 3 — — — —
500 50 250 50 12 — - — — —
PV05-15 Mullard 5Z 12 0,37 500 — 300 — — — — — — =
500 150 300 58 15 — — — — —
PV06-25 Mullard 5Z 6,3 1.3 600 — = MIE — — — E = 2
600 75 300 109 115 — — — — e
PV1-35 Mullard EZ 12 0,9 1000 — 500 — 8 2,3 — 15 — —
1000 170 300 97 10 — — — — —
PV4 Tungsram 2R+2R 4 2 350* — — 120 — — — — — —_
PV30s Tungsram 2R+2R 30 0,2 250% — — 120 - — — — — —
PV200/600 Tungsram 2R+2R + 34 600* — — 200 — — — — — —
PV200/1000 Tungsram 2R+2R 4 34 1000% — - 200 — — — — — —
PVv4100 Tungsram 2R+2R 4 1 500% — — 60 — — — — — —
PV4200 Tungsram 2R+2R 4 2 500* — — 120 — — — — — —
PX4 GEC 3 4 1 300 — — 45 — 6 5 083 3,5 1000
PX25 GEC 3 - 2 500 — — 50 —_ 7.5 9,5 1,26 .55 1000
PX25A Marconi; Osram 3 4 2 400 — — — — 6,9 4 0,568 — —
PY2-250 Mullard 5Z 12 73 2500 — 500 — — 6 — — — —
2000 50 350 170 12 — — — — —
2000 150 300 235 120 — — — — —
2500 159 400 349 1590 — s — - —
PY3-459 Philips 5Z 12 8,5 3000 — 600 — — 5,5 — —_ — -
3000 120 500 215 30 — — — — ==
2500 300 500 325 135 L — — = —
3000 200 300* 550 100* — — — e
PY31 Mullard 2R 17 0,3 250% T — — 125 — — — = = S
PY32 Mullard 2R 29 0,3 250%  — — 210 — — — — e i
PY33 Mullard; Ediswan 2R 29 0,3 200% — — 325 — — s 2 Ty VN
PY71 Lorenz 2R 215 03 500% — — 140 — — — e s =
PY80 EUR 2R 19 0,3 — — — 180 — — — = i —
PYS81 EUR 2R 17 0,3 — — — 150 — — — = Aot i)
PY81 Telefunken 2R 32 0,3 — — — 140 — - s wid s, o
PYS82 EUR 2R 19 0,3 250% — — 180 — — — — A i
PY83 EUR 2R 20 0,3 — — — 175 - — — = p=te ==
PY88 EUR 2R 30 0,3 — — — 220 — L — —n =2 g
PYR00 Mullard 2R 19 0,3 — — — 150 — — — - ot ek
PY801/U193 FEdiswan 2R 12 0,3 — —_ — 175 — — = il b 2
PZ USA 5 2,5 1,75 - 250: : 165 250 31 6 25 — — 7 L
PZ1/35 Mullard 5Z 4 2 1000 — 300 — —_ 1.5 e — - il
1000 120 250 80 26 = i = . Rl
PZ1/75 Mullard 57 (= PC1,5-100) — — — — — 2= = £ il
PZ30 Mullard 2R+2R 52 0,3 240% — — 200 — — Lt e == =
PZH USA 5 2.5 1575 250 165 250 34 6,5 252 — — 7 —
Q160-1 Brown-Boeveri 4BZ 5 6,5 3000 — 600 — — 4 == o <l A
3000 55 350 40 48 i} = e £, (i
3000 60 350 175 25 = — iy £ el
2500 135 350 160 28 — - i = S
3000 145 350 185 o == S picth L iy
Q400-1 Brown-Boveri 4BZ 5 15 4000 — 600 — — 45 f=Bi et i e
4000 170 400 50 76 e 2 AN 2 el
4000 175 400 140 40 — 2 i o =i
3000 140 400 280 65 — Lo B Eine S
4000 165 400 325 58 — —— — il Ir. 5
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Wa Wo Cagl Cin Co F { !

max ADDENDA

w w pF pF pF Mc %@
10 —_ 0,12 13,56 5,6 —_ (A); tel; Vi-k: 70 V; Wg2: 1,3 W; Ik max: 48 mA —
5,2 — 0,1 12 3 — (A); tel; VI-k: 70 V; Wg2: 1,3 W; Ik max: 40 mA —
5,2 —_ 0,07 11 3.0 — (A); tel; Vi-k: 70 V; Wg2: 1,3 W; Ik max: 40 mA —
— — 0,03 10 3,8 — (A); tel; Raeq: 1,5 kQ; Vi-k: 100 V; Ik max: 2,5 mA —
— — 0,03 10,6 3,8 — (A); tel; Vi-k: 100 V; Va max: 100 V; Ik max: 6 mA -
10 — 0,1 16 7.5 2 max; Wg2: 3 W; Ik: 85 mA -
— 15 — — — — tgr, (C); Igl: 5 mA; (Win)HF: 0,33 W

15 _ 0,03 12,7 o 20 max; Wg2: 5 W; Fm: 60 Mc —
— 14 — — — — tgr, (C); Igl: 5 mA; (Win)HF: 0,9 W

25 — 0,25 14,5 8 20 max; Fm: 60 Mc; Ik: 110 mA; Wg2: 5 W 318
— 45 — — = tgr, (C); Igl: 2 mA; (Win)HF: 02 W

35 — 0,12 15 11 20 max; Fm: 60 Mc; Ik: 160 mA; Wg2: 6 W 318

73 — —_ — — tgr, (C); Igl: 5 mA; (Win)HF: 1 W

— — — — — — * eff —
— — — o — —= *eff; Rt: 125 Q 178
— — — —_ — — * eff 46-51-55
e ) o . ot = * off 213
— — — — — — * eff 46
o BN L s AN i e 00D o
15 45 13,7 by st 3.9 — WoLF, (A) 2
30 8,5 14,8 114 83 — WOoLF, (A) 2
25 — — — — — max; WoLF 2
250 — 0,2 23 20 10 max; Fm: 60 Mc; Wg2: 60 W; Ik: 600 mA 306
— 90 = S — — tph, (B); Igl: 6 mA; (Win)HF: 0,7 W

— 325 —_ —_ —_ —_ tph, (C), M/a-+g2; Igl: 25 mA; (Win)HF: 75 W

— 600 — L = == tgr, osc, (C); Igl: 25 mA; (Win)HF': 54 W

450 — 0,056 29 21 10 max; Fm: 60 Mc; Wg2: 100 W; Ik: 700 mA 306
— 190 — — — =] tph, (B); Igl: 4 mA; (Win)HF: 0,7 W

— 580 —_— — — — tph, (C), M/a+g2; Igl: TmA; (Win)HF: 2,7 W

— 1200 — — — — tgr, (C); * +g3; Igl: 40 mA; (Win)HF: 15 W

N = = 2 LS zd *eff; PIV: 1000 V; Rt: 175 Q 92
= wls — e = = * eff; PIV: 700 V; Ia pk: 2,1 A; Rt: 33 Q; Vi-k: 550 V 295
— — = = = =, PIV: 700 V; Ia pk: 2,6 A; *eff; Rt: 15 Q; Ia (Va eff: 250 V): 220 mA 295
s — — == — = *eff; PIV: 6-kV 214
- — — - 5.5 —_ TV; PIV: 4 kKV; Ia pk: 400 mA; Vi-k: 650 V; (= 19X3) i
— —_ — — 6,4 == TV; PIV: 5,6 kV; Ia pk: 450 mA; Vfi-k: 600 V; Vi-k pk: 5,6 kV; (= 17Z3) 75
_ e = . S £} TV; PIV: 5 kV 75
— i s 2 - haFe *eff; PIV: 700 V; Rt: 125 Q; (= 19Y3); Ia pk: 1,12 A T
— — — — 9,2 — TV; PIV: 5 kV; Ia pk: 500 mA; Vi-k pk: 5 kV 75
5 — — — 8,6 — TV; PIV: 7,5 kKV; Ia pk: 550 mA; Vi-k: 220 V; eff; Vi-k pk: 6,6 KV 75
— — — — 47 L= TV; PIV: 5250 V; Ia pk: 350 mA; Vi-k: —5750/+3000 V 75
= = £ L 7.8 = TV; PIV: 5500 V; Ia pk: 450 mA 75
— 2,7 — — — —_ WoLF 13
35 — 0,04 14 19 2 max; Fm: 60 Mc; Ik: 110 mA; Wg2: 10 W 310
— 52 — = o — tgr, (C); Igl: 4 mA; (Win)HF: 0,75 W

ot = = i sl — 310
" —_— =4 3 —_ —_ *eff; Rt: 50 Q 215
— 3 — — — —_ WoLF 39
160 — 0,05 10:5:--,33 60 max; Fm: 220 Mc; Ik: 250 mA; Wg2: 20 W 21
— 115 — — — — mod, pp(B); Ia(m): 330 mA; (Win)LF: 12 W

i 85 — — = = tph, (B); Igl: 5 mA; (Win)HF: 1 W B

— 305 — — — —_ tph, (C), M/a+g2; Igl: 6 mA; (Win)HF: 156 W

— 423 — — — — tgr, (C); Igl: 10 mA; (Win)HF: 1'W

490 = 0,13 10,5 8,5 50 max; Fm: 120 Mc; (fa); Ik: 400 mA; Wg2: 35 W 21
— 1600 — - — — mod, pp(B); Ia(m): 560 mA; (Win)LF: 12 W

— 200 — — — — tph, (B); Igl: 6 mA; (Win)HF: 02 W

e, 650 = — = s tph, (C), M/a-+g2; Rg2: 40 kQ; (Win)HF: 256 W

— 1000 —_ — — = tgr, (C); Igl: 12 mA; (Win)HF: 3 W
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vt If Va Vgl Vg2 1Ia Ig2 S Ri Ra Rk

TYPE l * se)  u (Ra-a)
v A v —Vv V mA mA mA/mV kQ kQ Q
Q450-1 Brown-Boveri 4BZ 5 15 4000 — 500 ' — — — -— - - =
4000 95 500 600 34 — — = S it —
4000 320 500 360 34 i — e —
QA2400 GEC; Osram 5 63- 102 .200 25 200 8 2 25 — 500 — 250
QA2401 GEC; Osram 3 63 015 250 85 105 — = 2,2 7 - 11 — —
QA2402 GEC; Osram 5(Z) (= EEID) ~ 220, e Loy 2 0l e — B i o
QA2403 GEC; Osram 5 63 . 710,3-="1250) -2 250 10 5 7.5 L 300 - — 160
250 — 250 45 2.5 2,7 L =Sre B 680
QA2404 GEC; Osram 242 637, 03T T e Sy T i — P~ gt ot
QA2405 GEC; Osram 4BZ+4BZ 63 16 400 — 200 — - 3,9 — 100 — —
400 25 175 33 14 == . — 10 =N
325 60 200 90 125 = = g v el —
400 50 175 100 11 = == g e —
QA2406 GEC; Osram 343 12,6* 0,157 250 - 2 a1 — 5,5 55 100 — —
QA2407 GEC; Osram 2R+2R 63 0,6 @ 325* — Lo 270 = = S & b e i
QA2408 GEC; Osram 3+3 63 06 250 8 — 9 — 2,6 20 T — —
QB2/250 Philips 4BZ (= 813) e et Sy 222 - == L S An
QB2,5/250 Philips 47 63 54 3000 — 600 — = 1,9 — —_ — -
3000 170 400 150 50 =5 — == g2 cE
2000 150 400 170 50 = = = == =
QB3/200 Philips 47 (= 4-66A) — - — 2 T nnE o divs = bk I s
QB3/300 Philips 47, (= 6155/4-125A) — E ST 1= = =4 Lo T foe =
QB3/300GA  Philips 47, (= 6155/4-125A) — e — = = Sl | e
QB3,5/750 Philips 47 (= 6156/4-250A) — e = = T ) L
QB3,5/750A  Philips 47 (= 6156/4-250A) — RSP - _ N 1P o .
QB4/1109 Philips 47 5 14,1 4000 500 850 350 — 4 — - = -
4000 90 500 160 T\ L — = L 15 —
3000 220 500 275 36 — — = —
4000 170 500 270 16 = = - B =
QB4/1100GA Philips 47 (= QB4/1100) 2 o = s o SRR Yoz
QB5/1759) Philips 47 10 99 5000 — 700 450 2= 7 — X — —
4000 240 600 380 80 — = L e
5000 200 700 440 75 S8 — e =
QB5/2000 Philips 47 75 22,6 5500 500 800 700 — 10 = 2 i =
4000 105 600 330 40 L A — Ss =
5000 240 600 600 185  — e e okl
QBL3,5/2000 Philips 47 4 60 4200 300 1000 950 5 20 = —~ = —
4200 110 710 850 28 - — DI o5 o £
4200 120 720 900 15 = == e i 2=
QBL4/800 Philips 47 (= 4X500A) — = S = = 2 e 2
QBL5/3500  Philips 47 63 325 5000 500 800 15A — 19 = =1 G —
4000 175 800 - 27501 - 110~ - — — e X L el
4000 375 800 900 190" = = =l QN £ =)
5000 250 800 1,1A 100 — — e =i
QBW5/3500 Philips 47 (= QBL5/3500) — —- = — — — — - b
QC05/15 Philips 47 4 T 7500 o 125 — L 1,5 == 8 0, o] =
QCe5/35 Philips 4BZ 1,6 32 650 150 200 160 — 7 K B2 e L
475 1 135 94 9 = e = v
600 71 180 150 15 - 2L Bt ==
400 54 190 150 15 — = SRRt =
QDET22 GEC 32 (= DET22) — — = — s = S S ofs
QE03/10 Philips 4BZ = 5763) — — [ = == = R =e
QE¢4/10 Philips 4BZ 63 06 300 — 250 — el 1,9 — 07— 2
250 50 200 385 10 = = ol £
300 60 250 43 6,7 =3 = S S
300 120 200 334 2,6 e = e N i
275 140 200 36 2,5 — S =2 =
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Wa Wo Cagl Cin Co F

max ADDENDA

w w pF pF pF Mec

450 == — — —_ 120* max; *Fm; uglg2: 2; Wg2: 45 W 21
— 1750 — — — — mod, pp(B); Igl: 10 mA; (Win): 156 W

= 1160 2= — = 70 tgr, (C); Igl: 15 mA; (Win): TW

25 e o L) e ot spec; HF; MF; vu 81
3,5 feay — s o — spec; LF; osc 84
— — — — — — 80
2,5 = — —_— = . spec; VHF; MF; LF; Rin(45 Mc): 9 kQ; Raeq: 1 kQ 412
— — —_ — — — mix; Vosc eff: 45V

— — — — — - spec; det; PIV: 350 V; Ia pk: 50 mA 38
7,5 - 0,043 8,5 9,3 160 spec; 1 tetro; max; Fm: 250 Mc 69
— 22,7 — — - — mod, pp(AB1); Ia(m): 92 mA; Ig2(m): 11,8 mA

— 19,2 — — — 20 tph, pp(C), M/a+g2; Rg2: 10 kQ; (Win)HF: 0,35 W

— 25,6 — — S 20 tgr, pp(C); Igl: 2,6 mA; (Win)HF: 0,3 W

2.5 — — — — — spec; */6,3 V; 1/0,3 A; 1 trio; (A); VHF mix+osc 75
— — — — — — spec; *eff; PIV: 1200 V; Ia pk: 210 mA; Rt: 435 Q 66
25 — — — — — spec; 1 trio, (A); LF; Vg co: —17 V 24
— — — — — — 203
125 — 0,1 11 6 20 max; Fm: 100 Mc; Wg2: 25 W 20
— 325 —_ — — —_ tgr, (C); Igl: 15mA; Vin HF: 300 V

— 220 — — — 100 tgr, (C); Igl: 15 mA; Vin HF: 280 V

— — — — — — 19
— — — — — — 20
— — — — — — 20
S — — — — — 20
— — — — — — 20
400 —_ 0,12 1257 49 110 max; (fa); Wg2: 35 W; Igl: 25 mA; (= 7527) 20
—_ 1750 —_ — — —_ mod, pp(B); Ia(m): 638 mA; *Ig2(m); (Win)LF: 1,6 W

— 630 — — — 75 tph, (C), M/a+g2; Igl: 6 mA; (Win)HF: 1,6 W; (Win)LF: 413 W

—_ 800 — — —_ 100 tgr, FM, (C); Igl: 9,56 mA; (Win)HF: 2 W

. i - L s == TS 20
500 — 0,25 24 8,3 60 max; (fa); Fm: 110 Mc; Wg2: 66 W; (= 6079) 20
—_ 1200 —_ —_ — = tph, (C), M/a-+g2; Igl: 20 mA; (Win)HF: 7,5 W

— 1760 — — — — tgr, (C); Igl: 25 mA; (Win)HF: 8 W

500 — 0,1 47,6 9,5 30 max; (fa); uglg2: 51; Wg2: 120 W; Igl: 35 mA 20
= 650 E = — — SSB, (AB1); Igl: 0 mA; Wo pk: 1300 W

— 2400 — — — — tgr, (C); Igl: 20 mA; Vin pk: 300 V; (Win): 10 W

1500 — 0,15 46 6 900 max; (fa); Wg2: 50 W; Igl: 100 mA; uglg2: 9 —
— 2100 — — — 800 tgr, (C); Igl: 50 mA; (Win): 180 W; G: 12

= 2200 — — — 800 TV, (C), M/k, E/g; sl; Igl: 50 mA; (Win): 220 W; G: 10

= = e e e —_— 191
3000 — 035 235 84 110 max; (fa); Fm: 220 Mc; Wg2: 100 W; (= 6076) 204
— 5000 — — — 220 TV, pp(B), sl; Igl: 100 mA; (Win)HF: 350 W

—= 2700 = == e 119 tph, (C), M/a+g2; Igl: 85 mA; (Win)HF: 48 W

iE 4100 —_ — — 5 tgr, (C); Igl: 70 mA; (Win)HF: 30 W

=1 s e — — — (w); (= 6075) 204
15 — 0,001 — — 7,9 max; Wg2: 6 W; Fm: 20 Mc; uglg2: 2,9 —
25 —_— 0,24 13,5 8,5 60 max; Fm: 175 Mc; nglg2: 4,5; Wg2: 5 W; (= 8042); Igl: 5 mA; IMS 249
s 34 ok < LS — tph, (C), M/a+g2; Igl: 2,8 mA; (Win)HF: 0,3 W; (Win)LF: 23 W; IMS

=t 65 = — — =k tgr, (C); Igl: 2,8 mA; (Win)HF: 0,3 W; IMS

- 35 — — — 175 tgr, (C); Igl: 2,2 mA; (Win'*HF: 3 W; IMS

e = =i S = spec =

LS e = - =t = 98
75 — 0,1 8 5,4 60 max; Fm: 175 Mc; Wg2: 2 W; (= QV04-7) 143
- 5,8 — il ey = tph, (C), M/a-+g2; Igl: 1,5 mA; (Win)HF: 0,1 W

. 8 — - e e tgr, (C); Igl: 0,5 mA; (Win)HF: 0,03 W

g 44 =l = . et Fx2, 50/100 Mc; Igl: 1,5 mA; (Win)HF': 0,16 W

= 2.8 =, 254 =0 A Fx3, 33/100 Mc; Ikl: 1,5 mA; (Win)HF: 0,19 W
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Vi If Va Vgl Vg2 Ia Ig2 S Ri Ra Rk

TYPE E +* (Sc) w (Ra-a)
v A v —V V mA mA mA/mV kQ kQ Q
QE05/40 Philips 4BZ = B146)r "~ m=rr == L A — > M -
QE05/40F Philips 4BZ (= 6883) — — S T - ) i) 2L o
QE05/40H Philips 4BZ (=6159) = = — A = — = e —
QE06/50 Philips 4BZ = 807) = — e - = Vol h s =0 B
QE08/200 Philips 4BZ 63 39 825 150 300 400 = 9 aES S —
750 45 250 90 0 — == Er il 36 —
600 100 250 300 20 o — FE s =
750 90 250 385 20 s - e .
QE08/200H  Philips 4BZ 265 0,85 (= QE08/200) — — . Tt i, 5 s
QEL1/150 Philips 47 (= 4X150A) . T = = = s fud e S
QEL2/200 Philips 47 (= 7580) — — EYVRRT -3 = — 2 T ks P
QEL2/250 Philips 47 (= 4X250A) —= =y e = — - =ty S S
QEL2/275 Philips 4z (= 17203/4CX250B) — = = - e T =
QEP20/18 Philips 47 26 2,25 20k 1000 1500 18A* — = s sy G 2
20k 600 1250 18A* 3A*  — = £ 1.2 o=
QP21 GEC; Marconi 545 2 0,4 150 9 150 35 0,9 2.3 =8 == 25 —
QP22A Mullard 5+5 2 045 135 115 125 - 2,5 = = A .
QP22B Mullard 5+5 (= KLL35) — — T— o i == a2 e Sis
QP25 Mazda (Br) 5+5 2 0.2 71200 9,75 120 465 087 3 - SR [ s
QP230 Mazda (Br) 5+5 2 03 120 96 120 465 115 3 = =L N8 —
QP240 Mazda (Br) 545 2 045 150 — 150 — = 4 = - - —
QQCo03/14 Philips 47,447 3,15 1,65 300 150 200 55 = 3 — - = —
250 40 250% 90 4.2 == 2 bt R =
QQC4/15 Philips 47447 3,15% 1,36% 600 200 250 40 — 2 i — kL (e ~
600 24 200 6 0,36 . — — R 25
250 170 * 53 9 — - el e e
600 80 200 80 45 e 2% L SR iy
400 175 200 40 2,5 = — e —
400 175 200 60 4 —_ - - —
CQE2/5 Philips 4BZ1+-4BZ (= QQV02-6) =t A a - = e S s
QQE03/12 Philips 4BZ+4BZ 12,6 0,417 300 150 200 — = 33 — —_ - —
230 60 175 67 2,6 = et 2 Gt i
300 40 175 5 2,3 e e ey Loiid =
300 100 150 48 2 s Thet g i
QQE03/20 Philips 4BZ+4BZ 12,6* 0,657 630 200 250 — = 2,5 — - - —
500 26 250 25 0,7 = = 2L ooy 2o
500 80 250 80 8 = = e e e
600 60 250 100 8 == L T et
300 175 250 90 6 = =£5 2 S
QQE§4/5 Philips 47447 6,3* 0,6 400 100 215 90 — 105. . — —- - —
250 15 160 170 15 — = — = —
250 — 150 175 15 28 =i L Ry e
QQE04/20 Philips 4BZ-+4BZ (= 832A) — — e s = e i ad il =
QQE06/49 Philips 4BZ+4BZ 12,6 09f 750 175 250 120 = 45 = SIS —
600 25 250 50 1,2 = — e L
600 80 250 164 16 - ==t T < i
750 80 250 180 14 == == Sy e R
500 150 250 120 10 as = Zeo B S
Tk 200 850 5A* . — 2 a3 A b
QQVo02-6 Mullard 4BZ-+4BZ 12,6% 0,37 250 100 200 45 = 105 — e —
180 20 180 40 9,5 it s il Ak Vet
180 20 180 55 125 0 — — 2zl = —
180 — 180 40 9,7 — — N —
QQV03-10 Mullard 4BZ+4BZ (= QQE03/12) 5 e e 2 T i = Rl ]
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va Wo Cagl Cin Co P

ax ADDENDA

N W pF pF pF Mce

— o == = == = 7

— == = oy = T 7

— s s e = S 7

— == o — e — 39

100 — 0,9 12,7 30 30 max; Wg2: 12 W; Igl: 30 mA; Vi-k: 125 V 213

= 300 — — — — mod, pp(B); Ia(m): 560 mA; Ig2(m): 80 mA; Igl(m): 2 mA

= 130 — — — — tph, (C), M/a+g2; Igl: 4 mA; (Win)HF: 0,4 W; (Win)LF: 90 W

£ 200 — — st i tgr, (C); Igl: TmA; (Win)HF: 1 W

— — = —= = - 223

— — = = e = 31

= = iy = = 2 31

— = — = — — 31

. - s = — =5 31

60 — 0,3 43 9 — max; pu; *pk; Va pk: 25 kV; Wg2: 8 W; Df: 0,001 27

s 305k* — — = — pu; tpu: 2 usec; Fpu: 0,56 ke; (Win)pu: 32 kW; Igl pk: 1,1 A

— 1 — — — — § Osram; WoLF, pp 156

s 14 — Zu — 2l WoLF, pp 320

— — e ot — = 319

— 1,2 — — — — WoLF, pp 336

— 0,85 — — — — WoLF, pp 319

B (i s 0 =t Ll max; WoLF 320

T — 0,1 6,8 3.2 200 1 tetro; max; Wg2: 1 W; Ig2: 4 mA; (= 7983); th: 0,8 sec; uglg2: 7,5 250

11 2o == e . =2 tgr, pp(C); ICAS; * Rg2: 22 kQ; Igl: 3 mA

8 — 0,05 8,5 2,3 186 max; 1 tetro; ICAS; */6,3 V; /0,68 A; Fm: 300 Mc; (= 5895); 102

(= QQZ04/15)

e 28,2 i et Lo, ok mod, pp(B); Ia(m): 67 mA; Ig2(m): 9 mA

e 8,2 == = == 60 tph, pp(C), M/a+g2; * Rg2: 10 kQ; (Win)HF: 0,36 W

— 33,6 — — — 186 tgr, pp(C); Igl: 2,6 mA; (Win)HF: 0,26 W

s ¥ 8 s = Ly = Fx2, 93/186 Mc, (C); Igl: 1,6 mA; (Win)HF: 0,3 W

=20 10 A i} ek Sl Fx3, 62/186 Mc, pp(C); Igl: 2,2 mA; (Win)HF: 0,44 W

i — S r — pe 104

5 — 0,1 6,2 2,6 200 1 tetro; max; */6,3 V; 7/0,82 A; (= 6360); (= QQV03-10) 104

= 8,1 = his = I tph, pp(C), M/a+g2; Igl: 1,56 mA; (Win)HF: 0,1 W

AL 14,5 — — — — tgr, FM, (C); Igl: 1,8 mA; (Win)HF: 0,1 W

g 6,5 s =R = e Fx3, 66,7/200 Mc, pp(C); Igl: 2 mA; (Win)HF: 0,23 W

10 — 0,04 6,25 2.2 200 1 tetro; max; */6,3 V; 7/1,3 A; Fm: 600 Mc; (= 6252); (= QQV03-20A); (fa) 101

— 235 — — — s mod, pp(B); Ia(m): 73 mA; Ig2(m): 16,2 mA

_ 31 Al s == — tph, pp(C), M/a+g2; Igl: 2 mA

s 48 e L L 2% tgr, pp(C); Igl: 1,4 mA; (Win)HF: 15 W

_ 10 20 5 i, w2 Fx3, 66,7/200 Mc, pp(C); (Win)HF: 4 W; Igl: 3 mA

8 — 0,145 4,5 1,35 960 1 tetro; max; */12,6 V; /0,3 A; Wg2: 3 W 217

S 7 — — — — tgr, pp(C); Igl: 1,5 mA; (Win)HF: 14 W; Rgl: 20 kQ

g 2.5 — —_ —_ — Fx3, pp(C), 320/960 Mc: gl: 4,5 mA; (Win)HF: 3 W; Rgl: 20 kQ

— L £16 2 .3 (o 17
L 22,5 — 0,08 10,5 32 250 max; 1 tetro; */6,3 V; /1,8 A; ICAS; Fm: 30 Mc; (= 589%4); 101

(= QQV06-40A)

=8 86 a2 2 o = mod, pp(B); Ia(m): 200 mA; Ig2(m): 26 mA

— T — — — — tph, pp(C); M/a+g2; Igl: 3,4 mA

ol 96 e S = o tgr, pp(C); Igl: 3,4 mA

el 20 g . o — Fx3, 50/150 Mc, pp(C); Igl: 6 mA; (Win)HF: 12 W

o, A ol =2 =T = pu mod; * pk; tpu: 1,2 usec; Fpu: 1,25 ke; Df: 0,0015

3 — 0,16 6,4 15 500 1 tetro; max; */6,3 V; 7/0,6 A; Wg2: 1,56 W; Igl: 3 mA 104

=5 42 LS =N et — tph, pp(C); M/a+g2; Igl: 0,6 mA; (Win)HF: 1 W

=L 5,8 — — — — ter, FM, pp(C); Igl: 2 mA; (Win)HF: 12 W

_ 2,35 — - — - Fx3, 166/500 Mc, pp; Ig: 1,8 mA; (Win)HF: 1,1 W; Rgl: 82 kQ; Rg2: 1,2 kQ

Ll & i e e el 104
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Rk

Vi If Va Vgl Vg2 1Ia Ig2 S Ri Ra
TYPE +* (Sc) (Ra-a)
v A vV -V V mA mA mA/mV kQ kQ Q
QQV03-20 Mullard 4BZ+4BZ (= QQE03/20) =3 = = = 5 L% L5 £
QQV03-20A  Mullard 4BZ+4BZ (= QQEO03/20) — = — b s - = jo B
QQV04-15 Mullard 4BZ+4BZ (= QQE04/20) = — bt L b s L i
QQVo4-16 Mullard 4Z. 447 (= QQE04/5) 2L = = = = 2 B 58
QQV04-20 Mullard 4BZ+4BZ 12,6* 087 400 175 225 — — 4 — — —_
400 15 125 20 32* — — 6,2 —
400 25 125 75 4 L . L
325 45 165* 124 16 — s e )
400 45 145 150 h | — — — 260
QQV06-40 Mullard 4BZ+4BZ (= QQE06/40) - Aepepel — i Lo el £
QQV06-40A  Mullard 4BZ-+4BZ (= QQE06/40) LE S = 3o e s ol e
QQV07-40 Mullard 4BZ-+4BZ 12,6* 1,25% 750 175 225 — — 8,5 - — —
600 70 200* 160 30 — —_ — —
750 . 55 200 160 30 — — —_ 2170
QQV5-P10 Mullard 4BZ +4BZ 6,3* 24F 5000 225 850 10AF 3,5A7 8,5 — — —
4500 200 800 1,1 0,25 — —_ 0,4 —
QQZ03-10 Mullard 47,447 (= QQC03/14) — — e —_— — et s —
QQZ03-20 Mullard 4BZ+4BZ (= YL1020) = —_ — —_ = — 28 P
QQZo4-15 Mullard 47,47 (= QQC04/15) — — —_ — — — =4 e
- Q/ust GEC 2R 14 0,15 — — — 2 — - — — —
Q/U452 GEC 2R 2 0,8 — — L 0,5 — — e S S
QV03-12 Mullard 4BZ (= 5763) —_ == = =2 — = et 2K S
QVe4-7 Mullard 4BZ (= QE04/10) — — — —_ — == E X e x,
QV04/7R Mullard 4BZ (= QU04-T) — — —_ —_ =2 A ruf = oY
QVo4-15 Mullard 4BZ-+4BZ 6,3 1,6 400 — 250 — — 3 — — ==
400 60 250 90 18 — e et et
QV04-20 Mullard 4BZ+4BZ (= QQV04-20) i ey o o St e Ly
QV5-25 Mullard 4BZ (= QE06/50) — —_ — A A= i Tk 32
QV06-20 Mullard 4BZ (= QE05/40) Al . = — . = o L
Qvo7-49 Mullard 4BZ+4BZ 12,6* 1,1257 (= QQV07-40) it e __ B T o
QV(8-100 Mullard 4BZ (= QE08/200) — == == = e =l 5T A
QV1-150A Mullard 47 6 2,6 1250 250 300 — —_ 12 — — —
1000 105 250 200 20 - L = =
1250 90 250 200 20 — — a1 ¥
1250 70 300 305 45 — =2 Tim it
QV2-250B Mullard 47Z (= 4X250B) —_ — — — b — Y AP
QV20-10 Mullard 47 26 2,25 20k 1000 1500 18A* — — — —_ —
20k 600 1250 16 3 — — 1,2 —
QY2-100 Mullard 4BZ 10 5 2000 300 400 — — 3,7 — — —
2000 175 400 175 3 — 2 e 2
1600 160 300*% 150 30 — L = 2y
2000 120 400 180 40 — — —_ 520
QY3-65 Mullard 4z (= QB3/200) — — — — — L — s
QY3-125 Mullard 4Z (= QB3/300) — — —_ — = s pLS BNES
QY3-1600A Mullard 47Z = QBL25/3000) — —_ —_ = S S £ iz
QY4-250 Mullard 4Z (= QB3,5/750) — — —_ — e bl - 3.
QY4-400 Mullard 4BZ (= QB4/1100) — - £S5 =5 = e %, e
QY4-500A Mullard 47 (= 4X500A) =57 i C. = st R s 2t
QY5-500 Mullard 47 (= QB5/1750) = —_ — = = L 2 -
QV5-800 Mullard 47 (= QB5/2000) = — = 3 - il ] o
QY5-3000A  Mullard 47 (= QBL5/3500) ol i == —_ = Lk = A
QY5-3000W  Mullard 47 (= QBW5/3500) — = e - e = 2 i1
QYS50-P40 Mullard 47 11,6 64 50k 7000 5500 B50A* — 38 — — —
Q7Z06-20 Mullard 4BZ (= QCO05/35) —_ — — s = A e